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UGC NET PAPER 2 NOVEMBER 20, 2021 SHIFT 1 ADULT EDUCATION QUESTION PAPER

Topic:- 46AdultEdu_A

1) The National Adult Education programme was launched on

(1) 2" October 1978 (2) 2"9 October 1979
(3) 279 October 1980 (4) 2"9 October 1981

I Yig forgn wriaar 6 Fearaen gf off -
(1) 2 arrparz 1978 (2) 2 smpae 1979
(3) 2 arpaz 1980 (4) 2 arpa= 1981
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2) In Indian context the committee which has suggested closer of educational institutions for a year to involve students and
teachers involve in National social service to transform the social and education system?

(1) C.D. Deshmukh Committee (2) Secondary Education Committee
(3) National Educational Committee (4) Committee on New Educational policies

srzetter gRgea # A i ifder gunell # afyads a6 @ e ol iy sieanasst o e Hite A Ao # onfira oot @ Rig v ad
wr JiRdRD Azl @l 9 Fae @ o B afEk of Bar & swa o &:
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3) National Adult education programe was renamed in 1982 with some changes in focus. What was it known as?

(1) Continuing Education {2) Sakshar Bharath Programe
(3) 20 Percent programme  (4) Adult Education programme

@y mscagel ufvada e gu adla gis an wriagsa o ad 1982 3 go: sraaor Roar srn sawwt aar o 2n?

(1) saa forsn (2) 817 vea Rk

(3) i\ 3t wriga (4) die Rizn oriaa
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4) Foundational literacy and numeracy, critical life skills, vocational skills, basic education and continuing education are
broad areas of

(1) National curriculum frame work for A.E
(2) International commission of A.E

(3) Adult education policy of USA

(4) NCERT

Nt AT AT FTARADL, Acragul shael DI, AAHIRED Wmiek, giornd (91 e s e cuew 859 3 :
(1) 2.8 @ fmw =i urcera=t

(2) u. & o1 3eTRIERT aEneT
(3) vizer = abxot &t gis f9an s

(4) ke difdrer swpzienst gfdrgr ufyas (v 2t § ame &)
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5) Identify the item from the following which is not a character of learning society?
(1) Learning is a continuing activity through out the life

(2) Learners take responsibility for their own progress

(3) Assessment confirms progress rather than failure

(4) Learners learn uniformally

Braftifioa a<i 3 | 33 s & asarst o3 s Brenelf s 6 Ridraar 3
(1) Fizon sfior-u=ia siEt w01 arcl s aiferfoedt 2
(2) forzrrefl srowit yeiier &t Bedcsi o 3

(3) i, aTGarl bl feren # geil Bt gite wear &
(4) forgmel v womm wa A Wma &

[Question ID = 1208][Question Description = Q05_AE_SHAAN_20NOV21_51_Shift1]
1. 1

[Option ID = 4829]
2.2

[Option ID = 4830]
3.3

[Option ID = 4831]
4. 4

[Option ID = 4832]

6) Alternative Education, also known as

(1) Family education (2) Non-Traditional Education
(3) Traditional Education (4) Non-Family education

Tooious fYien 331 =a & ft a6t st &

(1) ufiar Bren (2) 3% wiuweE Bign
(3) wuzera fran (4) 3tz wifrarfye forsm
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7) The use of word andragogy has been traced back as far as to

(1) Early Ninteenth century (2) Late Ninteenth century
(3) Early Twentieth century (4) Late Twentieth century

Gi:@ o1em 9Iz] 9o I GRIIPT 3 gT-
(1) Iooltardl =l & amdar 3 (2) Foollzrdlt ¢t & Imarel J
(3) <ol 18t @ smew A (4) dterdt 35t & soerl d
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8) Andragogy is also referred to as

(1) Compressed theory of adult learning
(2) Comprehensive theory of adult learning
(3) Continued theory of adult learning

(4) Condensed theory of adult learning

G3Eilel @1 tad oo Yok ot 8lar 8

(1) dioa aftem ot wfim Brgia

(2) Qe aiftrera @ farga Rigia

(3) Qo AltemE o1 Faq Rrga

(4) gice aftem o e Brgia

[Question ID = 1211][Question Description = QO8_AE_SHAAN_20NOV21_S1_Shift1]
1. 1

[Option ID = 4841]
.2

[Option ID = 4842)
e

[Option ID = 4843]
4. 4

[Option ID = 4844]

9) He is generally credited with the popularization of the term “Andragogy”

(1) Freire (2) Knowles
(3) Miller (4) Marx

gii'& LRI YNIF 215G BT arepita goner A 3w div A Hdifra § -
(1) 53 (2) siicra
(3) faz (4) s
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10) The phrase “The Millstone of Pedagogy” was used by

(1) Knowels (2) Freire
(3) Nlich (4) Russo

"'z Brerdia diiw UsEisl" @wers g fear swr -

(1) e (2) B

(3) sfeem (4) =AY
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11) “Eight ages of man” provided by-

(1) Erik Erikson (2) Carl Jung
(3) Abraham Maslow  (4) Carl Rogers

'we oot 3w et (Rigia) Roaar & 8 -

(1) of¥r ofrsrs (2) wrel sier

(3) agred Aval (4) it et
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12) The sub titles such as “Farewell to Pedagogy” was used by

(1) Miller {2} Knowles
(3) Brecht (4) Marx

"@erziier ¢ Uswitsh” 3 sugiite 1 geier Rezer Rear?
(1) Bew  (2) shem
(3) /g (4) wred
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13) Abraham Maslow (1972) placed special emphasis on:

(1) The role of safety (2) The readiness of learning
(3) The structure of self (4) The latency

prepp

Your Personal Exams Guide



www.prepp.in

sgisH Aver (1972) # fva a7 R ge Ra-

(1) zam & yfdreor (2) siftrerer &Y aeavan

(3) aeH bt Hemen (4) srcerTmen

[Question ID = 1216][Question Description = Q13_AE_SHAAN_20NOV21_51_5hift1]
j it

[Option ID = 4861]
7.2

[Option ID = 4862]
3.3

[Option ID = 4863)
4, 4

[Option ID = 4864]

14) The art and science of helping adults learning is known as

(1) Pedagogy (2) Self-Directed learning
(3) Andragogy (4) Demagogy

giv:@ safipel @) RBrei Ygiel ool d HERIET <ol ardl el 31z fasiiel o1 @al s &:
(1) forgmr oy (2) Fa-forgfara forgron
(3) dgeiish (gioe seacre o) (4) seEikso
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15) Sustainable Development Goals (SDGs) of UNDP listed as number

(1) 17 (2) 08
(3) 10 (4) 05

3, Tol. 31 Ul @i Skkpiforr Rreprr aga (SDGs) IRm & adiz J -
(1) 17 (2) 08
(3) 10 (4) 05
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16) Discussion of desirable society was initiated by

(1) Mahatma Gandhi (2) Pandit Jawharlal Nehru

(3) Lajpat Rai (4) Vallabh Bhai Patel
aimsitr A @B gaf Breafia salke ger o 6t o o
(1) sgrear wiieh (2) df¥a sranse e dss

(3) arsma I (4) Tcan i aea
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17) Which of the following devices is required to connect a computer to the internet?

(1) Pen drive (2) Mouse
(3) DVD (4) Modem

forsarfert¥e 3 3 wior AT FUwIoT WIgeT WY FTIoic A ST © v srrrerr 87

(1) 9ot 3159 (2) \rxs
(3) & & & (4) A=A
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18) Full form of VIRUS is

(1) Versatile information Research under seige
(2) vital information Research under seige

(3) Volume of information Research under seige

(4) Video information Research under seige

aRPA (AREHA) @1 Rega wu &

(1) w3fersa sorpier P dise i
(2) arsea sawEeet BRI =7 Hiar

(3) are e sorwREiem RRiRT 3ise st
(4) A3 sorwiiore BR aise s
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19) The Full form of MOOC is

(1) Massive Open Optional Course (2) Massive open online course
(3) Multimedia open online course (4) Multimedia open optional course

D (MOOC) 1 yof wa 3 -

(1) dif¥a il sncrera o (2) dif¥a e slieicrs« @i
(3) acihiif¥=r sde siferendor @i (4) s fiiSar sider siicrerear wiadf
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20) ‘Swayam’ is very much important in

(1) Agriculture (2) Sports

(3) Education (4) Health
"z Towarfaitiaa & aga seraget 2:
(1) ofa (2) Berms

(3) foram (4) yarrex
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21) What is elaboration of “Cc” in an email?

(1) Close circuit (2) Carbon copy
(3) Close contact (4) Concealed contact

gar &rer “Cc” & o farega wa &
(1) e wfde (2) wrdar wrdt
(3) acliat ®ée (4) m3fics o
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22) URL means

(1) Uniform Resource Locator  (2) University Resource Library
(3) Uniform Repository Locator (4) Universal Repository Location

3 AT wel @1 AFdIgRT 2-
(1) gehwiaf featat crdez (2) eianf3f& fraef osgd
(3) zohohdl Tabcd arde (4) yoitada YBcd ardae
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23) One of these is not a basic term associated with computers

(1) Hardware (2) Software
(3) Data (4) Plagiarism

Foldl 3 B WRIgT A 31 Jel 9G oIBl & -
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(1) zr=dsr (2) Aedsr
(3) srax (4) weitysan
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24) ‘Living today’ A radio programme broad casted to enhance the community Development in adult education programme
is from

(1) United Kingdom
(2) India
(3) United States of America

(4) Tanzania

v Rian wdaw § mueias Rt 3 gy ot & ganfer Rvar sisroen 3R i "Hiflsr g0 wal @ 37
(1) gorses fersa

(2) sireet

(3) vigrr wsa sty

(4) st
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25) As per New National Education Policy 2020 which of the following is newly integral part of school education?
(1) Early childhood care and education

(2) Sports education

(3) Agriculture Education

(4) Professional Education

a1¥ ek forgm ofifer, 2020 o o Beaftfioa #d A Read rayer Rren wr sifdisor sist worrn st 37
(1) smiBres frey Smmrer aii g

(2) Hrerpg Rrg

(3) witr forgn

(4) qorazy forgr
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26) Statement I: Due to the corona pandemic, the entire country saw a tremendous increase in online teaching

Statement II: In future, there has to be a blend of online and offline teaching which has to be achieved in next five years

In the light of the above statements, Choose the correct answer from the options given below
(1) Both Statement |1 and Statement Il are true

(2) Both Statement |1 and Statement Il are false

(3) Statement | is true but Staement Il is false

(4) Statement | is false but Staement Il is true

ol o) weret Rw a1e & -
weret (1) @ wlden werdl @ wrot, g3 91 ot Jiforenser 91501 3 sryarget el S=ht
e (11} ; mikrer 3, sifonzar iz sifearse RrswT o v o 2 Y aE”Y gt Arel # gi 8 smesn

FRf Dol & e 3, slier i e fadseul 3 31 F#E e o a6l BT
(1) weset (1) iz (11 ) Aoit 7 §

(2) e (1) sz (1) it s 3

(3) @uet (1) 3= 8, cfsar oot (1) asreT 2

(4) et (1) srre B, Aot werer (11) JceT 2
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27) Given below are two statements: One is labeled as Assertion A and the other is labeled as Reason R

Assertion (A): With the development of science and technology, the forms and ways of communication have become more
specialised and there is an increasing use of social media as the new methods of communication

Reasons (R): In the socities of today, the communication process is more complex and indirect because of the use of modern
gadgets in which the individuals do not interact face to face
In the light of the above staements, Choose the correct answer from the options given below:

(1) Both (A) and (R) are true and (R) is the correct explanation of (A)

(2) Both (A) and (R) are true and (R) is the NOT correct explanation of (A)
(3) (A) is true but (R) is false

(4) (A) is false but (R) is true

sl 5 weara f2e =10 F : v b Assertion(A) @ wa & fafiaa & o g1 335 ©rur Reason(R) @ wu 3 :

sifSreverar (A): Rsior siiy GielPrft & Brora & wre-wme dar © waeg Ak add st Rerasarg 8 se 3 iy dar & aie alol © wa i
iterer #if¥Rn @ affrs griter Rar s a1 &Y

@RI (R): a1 < o # angforr sumawl (Steic) W gRiel, R IRt 3ieol- A0l 3G o8] w3, @ BRI JuR B giigar akre siica
3fiz argrargr Y
IO WY @ e H, o fov s1v Brosedl A A A8t Ty o aaer dhifene

(1) (A) siiz (R) Syl =1 & sz (R), (A) &I 318 =e=n 2

{2) (A) 3tz (R) <iolt =17a &, ofpa (R), (A) &t w1t —aren ot &

(3) (A) 717 &, cifdeat (R) amaaca &

(4) (A) swca 8, afvar (R) e B
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28) Given below are two statements; One is labeled as Assertion A and the other is labeled as Reason R
Assertion (A) : Human resource development plays a critical role in the socio-economic development of a country

Reasons (R) : The welfare and development of the weaker sections of the society largely depend upon suitable policy
directions executed through appropriate programmed and strategies
In the light of the above staements, Choose the most appropriate answer from the options given below:

(1) Both {(A) and (R) are true and (R) is the correct explanation of (A)

(2) Both (A) and (R) are true and (R) is the NOT correct explanation of (A)
(3) {(A) is true but (R) is false

(4) (A) is false but (R) is true

i1 <) werel e o & wes sifirsersr Assertion (A) @ wa 3 fifias 2 A goer 3w oevl Reason (R) @& =a 3
Afirerera (A) ; o Faere fara 291 & AEntrm-niie fawmre i aeraget yideT e o 2

w10l (R} : woIra @ Do asll ©f ool iz o #Ale dizaz Sugep oflfv e aen 3R wriadl iz weifael & g sad pamas
uz forsfz e 3
IURRE WYol W AR #, ot Be oo frpodl d A wm9 3uy’ 02 1 936 Bl

(1) (A) aiiz (R) Sioit w1t 3 afiz (R), (A) &t a1t warear &

(2) (A) stz (R) 2rif [ét B, Afdsar (R), (A) 61 78 s owdY 3
(3) (A) =8 3, Afvar (R) 7 ot &

(4) (A) wxdt ordt & o (R) =t &
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29) Given below are two statements: One is labeled as Assertion A and the other is labeled as Reason R

Assertion (A): Education is a life long activity which begins at birth and continues till one dies It does not terminate at the
end of formal schooling but is a lifelong process

Reasons (R): Life long education covers the entire life span of an individual and includes formal, non-formal needs of an
individuals
In the light of the above statement, choose the correct answer from the given below:

(1) Both (A) and (R) are true and (R) is the correct explanation of (A)

(2) Both (A) and (R) are true and (R) is the NOT correct explanation of (A)
(3) (A) is true but (R) is false

(4) (A) is false but (R) is true

i 31 weel e o & ; wos sifirserst Assertion (A) @ wa 3 fifias & A goer 3w orevl Reason (R) @& =a 3 ;

atfiraverer (A); Rign v Slaer-usla acter arcll gftgen 2 5 slolt @ 3ERT A 3 A Pog-uda st zaedt BY a1z afueniye s Rign & s
Bt uz wan ol 2k ¥ a¥g shasraeia aoer archt gfdgar §

areor (R): shaer-uzta Bien 3 wafvs @ sigef shasr &t swaf?y enfier 21kt 3 ofi v sty &t sy, Siesliamiye sreed snedl 2
FIRITE U W e 4, ol e s1v fireodl | 31 718t e @1 e Bl

(1) (A) 3iiz (R) it 3 3z (R), (A) o =1t s &

(2) (A) iz (R) il wrcr &, aftsar (R), (A) B &Y camzoen ol 3
(3) (A) =rca 3, Afdar (R) amra 3

(4) (A) araea 3, afsa (R) aca 3
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30) Given below are two statements: One is labeled as Assertion A and the other is labeled as Reason R

Assertion (A) : The caste system is unique to India and is also the basis of stratification in our country. The caste is an
inseparable aspect of Indian society in which all the castes in all the four major religions- Hindu, Muslim, Sikh, Christian - are

living peacefully with each other

Reasons (R} : The caste system with all its pecularities is unique to India and hence it is not universal
In the light of the above staements, Choose the correct answer from the options given below:

(1) Both (A) and (R) are true and (R) is the correct explanation of (A)

(2) Both (A) and (R) are true and (R) is the NOT correct explanation of (A)
(3) {(A) is true but (R) is false

(4) (A) is false but (R} is true

ofr € wera 2w s § ¢ uos aifinoera Assertion (A) & wu # foifiaa & At gzrer s oot Reason (R) S wa 3

sifirmeret (A) : sufirgen s &t aifdl gur 3 afiz a5 oo Sor o v @1 smeme ot 8 =ofer, sl s <o aifinsu uecg 3 R ot
g enit-Rog, ghiow, Brawm, fand 6 w0 kRl v g & Iy eiifirgef do1 3t = & ¥

o1vl (R) : arasit sft fafdreemnaii & wmer sofea gen sima &t afgddier gen 2 afiz safen a2 sabiifie ot &
IO WSl W sy A, i<l B 91 Broodl A A w8l ovi oo aaa difen

(1) (A) 31z (R) Sieni &rva 3 901w (R), (A) &t 7 worw=n 8

(2) (A) 3z (R) 31 =1ra 3, affpar (R), (A) 6t w1t e ol 8
(3) (A) mrw= B, afosar (R) sraeT 2

(4) (A) e &, oiftbot (R) s
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31) In which year India implemented the National Family Planning Programme?

(1) 1951 (2) 1952
(3) 1953 (4) 1954

AR o [ ad o asl uivar Brilse orlasa e ’Kear?
(1) 1951 (2) 1952
(3) 1953 (4) 1954

[Question ID = 1234][Question Description = Q31_AE_SHAAN_20NOV21_S1_Shift1]
1. 1

[Option ID = 4933]
2. 2

[Option ID = 4934]
3. 3

[Option ID = 4935]
4, 4

[Option ID = 4936]
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32) National skill development policy mainly for

(1) Youth (2) Farmers
(3) Handicapped (Divyang) (4) Sr. Citizen

I wigrd e ofifter s = A 2 -

(1) gamsii & o (2) foamit & Rre
(3) Reuisit @ Rre (4) afys sl & Rre

[Question ID = 1235][Question Description = Q32_AE_SHAAN_20NOV21_51_Shift1]
1. 1

[Option ID = 4937]
2. 2

[Option ID = 4538]
3 3

[Option ID = 4939]
4. 4

[Option 1D = 4540]

33) The term Entrpreneurship refers to

(1) Person  (2) Product
(3) Process (4) Output

FEroticiar us T 314 B:
(1) =afs (2) s
(3) gl (4) sruce (3msTye)

[Question ID = 1236][Question Description = Q33_AE_SHAAN_20NOV21_51_5hift1]
J

[Option ID = 4941]
2.3

[Option ID = 4942]
%3

[Option ID = 4943]
4, 4

[Option ID = 4944]

34) Which of the following is connected to self help group?

(1) NLM (2} MPFL
(3) SEWA (4) ICD5

T~ HERAT AP DI Ub AdIEs ICEI 8 -

(1) wot. wet. @A, (NLM) (2) wa. 4. we. wet, (MPFL)
(3) o= 3. seog, v, (SEWA) (4) ang. #H. 3t wan. (ICDS)

[Question ID = 1237][Question Description = Q34_AE_SHAAN_20NOV21_51_Shift1]
1. 1

[Option ID = 4945]
2.2

[Option ID = 4946]
3.3

[Option ID = 4947]
4. 4

[Option ID = 4948]

35) Innovation and incubation centres set up by State Governments under ministry of
(1) Higher and technical education

(2) Sports and youth affairs

(3) Social welfare

(4) Skill Development and Entrepreneurship
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ST [AFGE FIR orErEE AT 35y Begl & renmgen Ry sdiqrerr 95 sefler sidt 37
(1) Fza iz aosftdbt dien

(2) a1 ga gar AwA

(3) FarsT W=

(4) wiera firpra wa el

[Question ID = 1238][Question Description = Q35_AE_SHAAN_20NOV21_51_Shift1]
1.1

[Option ID = 4949]
2.2

[Option ID = 4950]
3.3

[Option ID = 4951]
4. 4

[Option ID = 4952]

36) Data collection by other agencies and made readily available to reasearcher, is referred as
(1) Primary data

(2) Secondary data

(3) Readymade data

(4) Raw data

3o CEilral @ Fra aiavst o) e wven s 353 eneni2iR oot el & acrser w6t @ wea § -
(1) qrafdnes siiws

(2) warergs/siter sfias

(3) e Afers

(4) = A3

[Question ID = 1239][Question Description = Q36_AE_SHAAN_20NOV21_51_5Shift1]
1. 1

[Option ID = 4953]
Lok

[Option ID = 4954]
3.3

[Option ID = 4955]
4. 4

[Option ID = 4956]

37) The analysis of Latin squire Research [LS Design] is similar to
(1) Two way Anova Techiniques

(2) U Test

(3) H Test

(4) Spearman Rank Correlation

Aot serarae Pt (war v Rowrger) o Redaor foa o st 37
(1) 2@ waiter asefiers

(2) g 2wz

(3) a2

(4) Rrrstiner %o wibiere

[Question ID = 1240][Question Description = Q37_AE_SHAAN_20NOV21_51_Shift1]
11

[Option ID = 4957]
5

[Option ID = 4958]
3 3

[Option ID = 4959]
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| 4. 4

[Option ID = 4960]

38) When observations of researcher is processed then it refers?
(1) Information

(2) Knowledge

(3) Data

(4) Evidance

s onremef grr gra el ur wriadl &t andt #, sewon aef dar -

(1) szzrem
(2) zmet

(3) i3

(4) s

[Question ID = 1241][Question Description = Q38_AE_SHAAN_20NOV21_51_Shift1]
1. 1

[Option ID = 4961]
2. 2

[Option ID = 4962]
3.3

[Option ID = 4963]
4. 4

[Option ID = 4964)]

39) One of these is NOT the characteristics of life long learning who have achieved success:
(1) Reading and thinking

(2) Bursting fixed mindsets

(3) Overconfidence and arrogance

(4) Experimental and creation

Forel A v o1 alell Bt Shtger-udda f2ran & Ridraar axdt 3 Bresiar wrwerar gra & 3:
(1) aoer 3z Ricer

(2) g Ramer @Y wieren

(3) atfer ferara afiz s

(4) aritet afiz FgstoT

[Question ID = 1242][Question Description = Q39_AE_SHAAN_20NOV21_51_Shift1]
1. 1

[Option ID = 4965]
2. 2

[Option ID = 4966]
3.3

[Option ID = 4967]
4. 4

[Option ID = 4968]

40) When data are collected on the entire population rather than a sample this is reffered to as a?

(1) Sample
(2) Population
(3) Universe

(4) Census

sra Foer @ gorRr Jaeht srardt @ e a3 i vwy fve s ¥ o 398 war s 3
(1) Faa
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(2) smardY/serszan

(3) mafse
(4) 1=

[Question ID = 1243][Question Description = Q40_AE_SHAAN_20NOV21_51_Shift1]
1.1

[Option ID = 4969]
5

[Option ID = 4970]
3.3

[Option ID = 4971]
4. 4

[Option ID = 4972]

41) The process of selecting people or elements from a population for inclusion in a research study it refers?

(1) Population (2) Universe
(3) Sampling (4) Census

TEp SIS 3IETRTG] A THICOT O JE19e H WD AMGT 2 dioll 31T ardl a5 a6l Ot iz w1 HaE § -

(1) s/==r A (2) st A
(3) Fafér (4) ST A

[Question ID = 1244][Question Description = Q41_AE_SHAAN_20NOV21_S1_Shift1]
1.1

[Option ID = 4973]
7.2

[Option ID = 4974]
3. 3

[Option ID = 4975]
4, 4

[Option ID = 4976]

42) The adults differ from children in learning

(A) Validate their beliefs and values based on the information

(B} Learning to be useful in their long term future

(C) Expect that learning should be useful immediately

(D) Accept the information presented to them

Choose the most appropriate answer from the options given below :
(1) (A) and (B) only

(2) (A) and (D) only

(3) (A) and (C) only

(4) (B) and (C) only

forgror 3 i a=ii 3 s swrd 4 fica &

(A) aruelt sTee @ snene u? el Rrears s o= < it o §
(B) s ddoiiers sifdier & ign ueisht 2l &

(C) amaer wad ¥ B Bign gea saaist &

(D) areIB! e & 5 siierbrl oF sdionr o &

oifl fon oo Rrpedl 3 3 A= IUR IR ©1 Rl BGibn:

(1) wxrex (A) afiz (B)

(2) @ (A) afiz (D)

(3) @ (A) afiz (C)

(4) @ (B) iz (C)

[Question ID = 1245][Question Description = Q42_AE_SHAAN_20NOV21_51_Shift1]
1. 1

[Option ID = 4577]
| 2.2
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[Option ID = 4978]
3.3

[Option ID = 4579]
4, 4

[Option ID = 4980]
43) Which of the following were part of the broad objectives of Sakshar Bharat Mission?

(A) Promote a learning society

(B) Impart non and neo-literates skills to non and necliterates to improve their earnings and living condition
(C) Intensive combing of drop cuts to enroll them in sexual education

(D) Impart functional literacy and numeracy to non literates and non-numerate adults

Choose the most appropriate answer from the options given below :
(1) (A}, (B), (C) only

(2) (B), (C), (D) only

(3) (A}, (C), (D} only

(4) (A}, (B), (C), (D) only

frsoiferiaa 3 31 wen-a=ir HIge HiFd Bros o wanaw 32w  aftafoa &7

(A) AfETA-Tge FATS © IGMT Soll

(B) e afiz oma-wmeR cafvp=al @1 3erhl 3R afiz Sorcd sfiast e d gar aa @ Rie Boe i aaaegr ova yea ween
(C) dter 3 uaTE BIoSol ard gedl Bl gel deligl wrell iz Taell fren i 38 gader o

(D) e iz dw sver H3a gics o1 gordcawmegzar Al WA s06 gorel wien

ofisr Ru s1¢ faseal 3 3 Fad WP 32 I aud Hifew ;
(1) @=@ (A), (B), (C)

(2) @ (B), (C), (D)

(3) @ (A), (C), (D)

(4) we (A), (B), (C), (D)

[Question ID = 1246][Question Description = Q43_AE_SHAAN_20NOV21_51_Shift1]
s U5 |

[Option ID = 4981]
2. 2

[Option ID = 4982)
2

[Option ID = 4983]
4. 4

[Option ID = 4584)]
44) |dentify following which are the stakeholder in higher education

(A) Student

(B) Teacher

(C) Administrator

(D) Computer

Choose the most appropriate answer from the options given below :
(1) (A) and (B) only

(2) (B) and (D) only

(3) (C) and (D) only

(4) (A) and (D) only

formteiflan i o soa Pen d Raenss 8 282
(A) Rremelf

(B) aermom
(C) gemrrm
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(D) oy

oifsl fow s1e Rrseal A A T yagow s o wre SHifs
(1) @aet (A) iz (B)
(2) @xaet (B) siiz (D)
(3) wae (C) siiz (D)
(4) et (A) 3= (D)

[Question ID = 1247][Question Description = Q44_AE_SHAAN_20NOV21_51_Shift1]
1. 1

[Option ID = 4985]
2. 2

[Option ID = 4586]
3 3

[Option ID = 4987]
4. 4

[Option ID = 4988)
45) Gestalt psychology emphasized on:

(A) Organizational experiences

(B) Internal and External factors

(C) Relationship between part and whole
(D) Wholeness of behaviour

Choose the most appropriate answer from the options given below:
(1) (A), (B) and (C) only

(2) (A), (C) and (D) only

(3) (B), (C) and (D) only

(4) (B) and (C) only

ScIce FolliElol AT 26T 8!

(A) TeTooIRA® Gl U2
(B) sty wa wisr ww $
(C) ai=it-aier Fee

(D) wrasr: &t zigufar

oifer o are femsedl 3 31 A JUgEs 30T ©1 W DIl |
(1) e (A), (B) afiz (C)

(2) Sz (A), (C) Az (D)

(3) @@ (B), (C) iz (D)

(4) @aer (B) 3fiz (C)

[Question ID = 1248][Question Description = Q45_AE_SHAAN_20NQV21_S1_Shift1]
1. 1

[Option ID = 4989]
2. 2

[Option ID = 4990]
3.3

[Option ID = 4991]
4, 4

[Option 1D = 4992]
46) Termineclogical variety of many terms similar to distance education which have been widely accepted are
(A) Flexi study
(B) Open learning
(C) On campus learning

(D} Independent learning

Choose the most appropriate answer from the options given below :
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(1) (A), (B) and (D} only
(2) (A), (C) and (D) only
(3) (B}, (C) and (D)} only
(4) (A), (B), (C) and (D) only

gzw¢ fOren 3 frcel Syetol agA A UGl Wl <INk Fkple e oif 8; 308 Risifira difr:

(A) ool sieqae

(B) 775 st

(C) afswnz @ sltaz sl (sifar Sranafeis)
(D) Taeg aiftema

oA e s1¢ Rraseal A 31 T yagw a7 o waa S @
(1) @ae (A), (B), (D)

(2) @ae (A), (C), (D)

(3) @am (B), (C), (D)

(4) @aw (A), (B), (C) sz (D)

[Question ID = 1249][Question Description = Q46_AE_SHAAN_20NOV21_51_Shift1]
1.1

[Option ID = 4993]
2. 2

[Option ID = 4994]
3.3

[Option ID = 4995]
4. 4

[Option ID = 4996]
47) What are the major criteria for effectively organized group of learning experiences?

(A) Sequence

(B) Integration

(C) Evaluation

(D) Continuity

Choose the most appropriate answer from the options given below:
(1) (A}, (B) and (D} only

(2) (B}, (C) and (D) only

(3) (C), (D) and (A) only

(4) (B), (A), and (C) only

gt ge1 A snefera fArzor soya was D fre gz weics o 37

(A) sy
(B) Frirarsar

(C) Fcaicmat

(D) fréear

ofier R s1¢ faseal 3 31 Fa WD 32 oI a9 Hifew ;
(1) @aer (A), (B) afiz (D)

(2) @aer (B), (C) afiz (D)

(3) @aer (C), (D) afiz (A)

(4) @t (B), (A) oz (C)

[Question ID = 1250][Question Description = Q47_AE_SHAAN_20NOV21_S1_Shift1]
1. 1

[Option ID = 4997]
.2

[Option ID = 4598]
e
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[Option ID = 4999]
4, 4

[Option ID = 5000]
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48) Sustainable development goals in education is to ensure inclusive and equitable quality education and promote life long

opportunities for all includes

(A) Global power play
(B) Cultural appreciation

(C) Gender equality

(D) Climate change and production

Choose the most appropriate answer from the options given below:

(1)} {A) and (B} only
(2) {A) and (C) only
(3) (B) and (C} only
(4) (B) and ([}) only

foran wEeh Sefeoiftrer Rrora aigzr, Famdeh sfiv wser sovrar archt Rign gfeiRm o E siiv it o fore shaer-oafa srrae soosy o 8,

gotdi onfdreT & -

(A) Sftars ot ¥

(B) wrmpiire geran
(C) Sifrr maweim

(D) storarg ubyarde Jiz srurcet

sy v =1y Rseal d A 78 sav o1 oga difore

(1) @t (A) iz (B)
(2) @xer (A) iz (C)
(3) et (B) iz (C)
(4) et (B) iz (D)

[Question ID = 1251][Question Description = Q48_AE_SHAAN_20NOV21_51_Shift1]

1.1

[Option ID = 5001]
2,2

[Option ID = 5002]
3.3

[Option ID = 5003]
4. 4

[Option ID = 5004]

49) According to Candy; Which of the following are the characteristics of autonomy of learners?

(A) Exercise freedom of choice and action
(B) Monitoring by learner

(C) Have self-mastery

(D) Follow goals and objectives

Choose the most appropriate answer from the options given below:

(1) {A) and (B} only
(2) (B) and (C) only
(3} {(C) and (D) only
(4) {A) and (C) only

D D erar Rraftfaa i 3 oie ar aRepreal 6 Foraaar 6 Rdraand 87

(A) Zord 3iiT oz &I FaeicE & AArA
(B) sfterarwatsit g siepepant

(C) zaydivr gien

(D) wger iz 3o wr sore9H6T
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ofiar e s1¢ faseal I 3 FaH TP 32 Sl a9 Hifew ;
(1) @aar (A) iz (B)
(2) Paer (B) ahz (C)
(3) @aa (C) ahz (D)
(4) @aar (A) sz (C)

[Question ID = 1252][Question Description = Q49_AE_SHAAN_20NOV21_S1_Shift1]
1. 1

[Option ID = 5005]
9.4

[Option ID = 5006]
3.3

[Option ID = 5007]
4, 4

[Option ID = 5008]
50) Vocational education is for

(A) Manual work

(B) Livelihood

(C) Occupational knowledge
(D) Researcher worker

Choose the most appropriate answer from the options given below:
(1) (D), (C) and (A) only

(2) (B}, (C) and (D) only

(3) (A) and (B) only

(4) (A), (B) and (C) only

wraAiRes forer 3 -

(A) gFaasl @ o

(B) anshiftesT @ foe

(C) a9z / wraanfPrr snar @ forg
(D) onier orf & fere

sl fon oo Repedl 3 31 A= TwREr 3 © = Sk
(1) @ (D), (C) afiz (A)

(2) @z (B), (C) i (D)

(3) @e (A) 3 (B)

(4) e (A), (B) &z (C)

[Question ID = 1253][Question Description = Q50_AE_SHAAN_20NOV21_51_5hift1]
Te 5

[Option ID = 500%]
2. 2

[Option ID = 5010]
3.3

[Option ID = 5011]
4, 4

[Option ID = 5012]

51) Arrange the following different levels of competence have been designed in National Vocational qualifications in order
to sequencial manner.

(A) Responsibility and autonomy of individual work activities
{B) Complex technical and specialized professional activities
(C) Apply fundamental principles and techniques

(D) Complex skilled performance of activities

(E) Performance of routine and predictable work activities
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. Choose the correct answer from the options given below :

(1) (B}, (C), (A), (E), (D)
(2) (E), (A), (D), (B), (C)
(3) (E), (A), (B), (D), (C)
(4) (A), (B), (D), (C), (E)

Al & firool-fireol F3l, e IeCi ramRie Al 3 720 3R 8, @ i A caafier oF ;

(A) daftpw il sifafaferil &1 fSeerd! iz Farma
(B) sifeer auseikbl siiv Ridrasianges adras sftfferif

(C) Fe1 Fargiel iz cooitml DI U] ol
(D)} siféfaRRIl @1 Sfed wiorRn forourgsr
(E) oiefi 3tz sifiea 3eep srfeifaent @1 oroags

sl v w1o Rroseal o O 7181 397 o1 awe difee

(1) (B}, (C), (A), (E), (D)
(2) (E), (A), (D}, (B), (C)
(3) (E), (A), (B), (D), (C)
(4) (A), (B), (D), (C), (E)

[Question ID = 1254][Question Description = Q51_AE_SHAAN_20NOV21_51_Shift1]
1. 1

[Option ID = 5013]
3.7

[Option ID = 5014]
3.3

[Option ID = 5015]
4. 4

[Option ID = 5016]
52) Arrange the following elements of the romantic curriculum in sequencial order

(A) Real life topics and proposals
(B) Cooperation

(C) Self-assessment

(D) Involvement

(E) Living attitudes of values

Choose the correct answer from the options given below :

(1) (C), (A), (E), (B), (D)
(2) (A), (E), (C), (B), (D)
(3) (D), (B), (A), (C), (E)
(4) (E), (A), (D), (B), (C)

Tl (IEfee) urgrrl @ PotikiRan wrwl @l snpawn d saliua @

(A) arafio shas @5 Rraer iz gema
(B) Hs=1=1

(C) 7a-ycaiaser
(D) amdvem
(E) sida zftemiv 3z e

oIy feu a1e famecal & 31 Adl Iz o wrIe oifss @

(1) (C), (A), (E), (B), (D)
(2) (A), (E), (C), (B), (D)
(3) (D), (B), (A), (C), (E)
(4) (E), (A), (D}, (B), (C)
| [Question ID = 1255][Question Description = Q52_AE_SHAAN_20NOV21_51_Shift1]
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|

[Option ID = 5017]
1)

[Option ID = 5018]
3,53

[Option ID = 5019]
4. 4

[Option ID = 5020]
53) Broadly agreed upon components of continuing education are

(A) Continous part time education

(B) Continous full time education

(C) Not connected to vocational and nonvocational study
(D) Intermittent education

(E) Recurrent education

Choose the most appropriate answer from the options given below :

(1) (A}, (B), (C), (D} only
(2) (B), (C), (D), (E) only
(3) (A), (B), (D), (E) only
(4) (A), (C), (D), (E) only

Al dix ar Faa Bign @ =haya acw §

(A) zrerer sigropIiern forgn

(B) wara quiwseres fren
(C) oenaaiRes 3117 31 RIMHIRRE LR 3 IR

(D) arBraf fran
(E) gommafiy forgn

skl fen oo fnpoal & 3 718 307 @1 o= ik

(1) @ae (A), (B), (C), (D)
(2) e (B), (C), (D), (E)
(3) @xe (A), (B), (D), (E)
(4) wae (A), (C), (D), (E)

[Question ID = 1256][Question Description = Q53_AE_SHAAN_20NOV21_51_Shift1]
s U5 |

[Option ID = 5021]
2. 2

[Option ID = 5022)
2

[Option ID = 5023]
4. 4

[Option ID = 5024]
54) Group Behaviour contributes for

(A) Conflict with group objectives

(B) Individual contributes to the group performance
(C) Low individual performance

(D) ldentify with the group

(E) Spirit of social awareness through group activity

Choose the correct answer from the options given below :
(1) (B), (D} and (E)
(2) (A), (B) and (E)

(3) (B), (C) and (D)
(4) (C), (D) and (E)
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HIPE =IasR Ree AeeTe ST &7

(A) wHE Tl o A good

(B) caftr w9 & SrRi-orurca d AEE caré

(C) cufirera wri-forcargst o forrar Faz

(D) 13 & w1 ST #AGH Wioll

(E) 71gz srfetiafd &5 meaar 31 HAIGID <iell Bl sirdon

oIy feu a1e fAmscal # 31 A8 Ivz o wrE oifss @

(1) @ae (B), (D} sz (E)
(2) @xer (A), (B) airz (E)
(3) @t (B), (C) afiz (D)
(4) @xer (C), (D) aiz (E)

[Question ID = 1257][Question Description = Q54_AE_SHAAN_20NOV21_51_5hift1]
1.1

[Option ID = 5025]
2. 2

[Option ID = 5026]
3.3

[Option ID = 5027]
4. 4

[Option ID = 5028]
53) Information education enables an individual to acquire all that education is expected to give viz.

(A) Information
(B} Knowledge
(€) Wisdom

(D} Arrogance
(E) lliteracy

Choose the correct answer from the options given below :

(1) (A}, (B) and (E) only
(2) (B), (E) and (D) only
3) (A), (B), (C) only

(4) (C), (D) and (E) only

IO 19181 wep wIlRe @l 33 01T wsrI Joiedt & Ry a6 al s aftla 2 3 =il Ben @ g smfdm &, el 2 -

(A) e
(B) smwar
(C) frds

(D) ga1/ mas
(E) arzmgrzar

oIy few o1e famecal & 31 A8l Iz o wera Sifse @

(1) et (A), (B} siiz (E)
(2) @t (B), (E) afiz (D)
(3) @t (A), (B), (C)

(4) @xer (C), (D) aiz (E)

[Question ID = 1258][Question Description = Q55_AE_SHAAN_20NOV21_51_5Shift1]
1.

[Option ID = 502%]
2. 2

[Option ID = 5030]
3.3

[Option ID = 5031]
4. 4
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[Dption ID = 5032]

56) Thorndike developed laws of learning that are:

(A) The law of re-enforcement
(B) The law of effect

(C) The law of readiness

(D) The law of motivation

(E) The laws of exercise

Choose the correct answer from the options given below :

(1) (A}, (B) and (E) only
(2) (B}, (C) and (E) only
(3) (C), (D) and (B} only
(4) (D), (B) and (C) only

urlsre w1 Riohn aflem & o &

(A) gaciel @1 o
(B) gara o1 formd
(C) aeawmr o oz

(D} arfsrqur 1 foraa
(E) ans=ms @1 forma

il 2w s1e faoscal 3F 3 JEl anz o @RIal &Hifss

(1) e (A), (B) iz (E)
(2) @aer (B), (C) oz (E)
(3) @aar (C), (D) iz (B)
(4) @@ (D), (B) afiz (C)

[Question ID = 1259][Question Description = Q56_AE_SHAAN_20NOV21_S1_Shift1]
1. 1

[Option ID = 5033]
2. 2

[Option ID = 5034]
B

[Option ID = 5035]
4, 4

[Option ID = 5036]
57) Which of the following are the approaches to distance learning?

(A) The multiple media model

(B) The classroom based learning model

(C) The correspondence education model

(D) The teacher centric learning model

(E) The network based distance education model

Choose the most appropriate answer from the options given below :

(1) (A), (B) and (C) only
(2) (C), (D) and (E) only
(3) (A), (C) and (E) only
(4) (B}, (C) and (D) only

forsai i & wio-A grrer fdrgn @5 suem 37

(A) T iz diza

(B) wen-ameniya f2rzm HAisa

(C) ugrnz foram disa

(D) Rrgres-wRea forg sifser

(E) oicaess amenfem grea fdigm giafin
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ol f8u a1 Rrpeul 3 31 #e3 TugEr R @1 e bl

(1) @aex (A), (B) iz (C)
(2) wae (C), (D) stz (E)
(3) wae (A), (C) sz (E)
(4) wae (B), (C) 3w (D)

[Question ID = 1260][Question Description = Q57_AE_SHAAN_20NOV21_51_Shift1]
1. 1

[Option ID = 5037]
2.2

[Option ID = 5038]
3 3

[Option ID = 5039]
4. 4

[Option ID = 5040]
58) Types of computer networks include

(A) Local Area Network (LAN)
(B) Metro Area Network (MAN)
(C) Wide Area Network (WAN)
(D} Internet

(E) Wireless Area Network (WAN)

Choose the correct answer from the options given below :

(1) (A), (B), (D), (E) only
(2) (B), (C), (D), (E) only
(3) (A}, (B}, (C), (D} only
(4) (A}, (C), (D}, (E) only

averes Sicaast @ geord 3 onfier 3

(A) cirrer ofen S’ (Sio1)
(B) A e seass (3¥or)
(C) arss o dreads (As)
(D} sewre

(E) arrsdia ofyer arcaa$ (o)

skl fen oo fnpoal & 3 718 307 @1 o= ik

(1) @@t (A), (B), (D), (E)
(2) @t (B), (C), (D), (E)
(3) @@ (A), (B), (C), (D)
(4) @ (A), (C), (D), (E)

[Question ID = 1261][Question Description = Q58_AE_SHAAN_20NOV21_51_5Shift1]
1. 1

[Option ID = 5041]
Ll

[Option ID = 5042]
3.3

[Option ID = 5043]
4. 4

[Option ID = 5044]
59) What are the types of assessment?

(A) Self

(B) Summative
(C) Formative
(D} Synthetic
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(E) Exploratory
Choose the correct answer from the options given below ;

(1) (€), (D), and (E} only
(2) (A), (B), and (C) only
(3) (D), (E), and (A) only
(4) (B), (C), and (D) only

aruiedyer @ g awr 37

(A) =1

(B) Hwsaenras
(C) raarca®m
(D) Biafew

(E) sreaaunran

oIy feu o1e fAoscal & 31 A8l Iz o wRre oifse @

(1) @aer (C), (D) iz (E)
(2) wae (A), (B) itz (€)
(3) @ae (D), (E) 4z (A)
(4) @aer (B), (C) 3w (D)

[Question ID = 1262][Question Description = Q59_AE_SHAAN_20NOV21_51_Shift1]
1. 1

[Option ID = 5045]
2.2

[Option ID = 5046]
3.3

[Option ID = 5047]
4. 4

[Option ID = 5048]
60) What are the general principles in selecting the learning experience?

(A) Scientific teaching approaches

(B) An opportunity to practice

(C) Experiences bring about several out comes
(D) Satisfactions

(E) Systematic Evaluations

Choose the correct answer from the options given below ;

(1) (A), (B), and (C) only
(2) (C), (D}, and (E) only
(3) (A), (D), and (C} only
(4) (B), (C), and (D) only

fdrgror topsra @ wrrer & mer Brgia o 87

(A) d=nfors frgror afiera

(B) =1a@d Wl I IR

(C) aprail & oF Yo @ afwna a1 &
(D) =

(E) saaf¥em frarpo

skl 2w oo fnpoal & 3 A8 307 o1 o= ik

(1) @ae (A), (B) iz (C)
(2) waer (C), (D) iz (E)
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(3) wae (A), (D) ail? (C)
(4) @aer (B), (C) 3w (D)

[Question ID = 1263][Question Description = Q60_AE_SHAAN_20NOV21_51_Shift1]
1. 1

[Option ID = 5049]
2. 2

[Option ID = 5050]
3 3

[Option ID = 5051]
4. 4

[Option ID = 5052]
61) The objectives of Rashtriya Kishor Swasthya Karyakam include

(A) Improve nutrition

(B) Enable sexual and reproductive health
(C) Provide vocational skills to adolescents
(D} Prevent injuries and violence

(E) Enhance the oratory skills of youth

Choose the correct answer from the options given below :

(1) (A), (B}, (D) only
(2) (A), (€}, (D) only
(3) (B), (D), (E) only
(4) (B), (C), (E) only

et fpils Tarres orikoa © ol d Flakm 3:

(A) aroor 3 Fgenz amert

(B) <imt 3fiz Yoleld Faeed d HEHIPT Yglol el
(C) ot o5t AR wierar gerer wvon
(D) amara Jfiz Za @1 braror

(E) gaws / Faferil @& adea sier # aifiafy
ofll few a1¢ fearmeul @ 3 31t Irz @1 a6 BT 2

(1) @t (A), (B), (D)
(2) et (A), (C), (D)
(3) &aa (B), (D), (E)
(4) @ (B), (C), (E)

[Question ID = 1264][Question Description = Q61_AE_SHAAN_20NOV21_51_5hift1]
Te 5

[Option ID = 5053)
2. 2

[Option ID = 5054]
3.3

[Option ID = 5055]
4, 4

[Option ID = 5056]
62) ldentify from following, target specific programme initiated under National Literacy Mission:
(A) Equalency Programme
(B) Rural Functional Literacy Programme
(€) Individual Interest Programme
(D) Income Generating Programme
(E) State Functional Literacy Programme

Choose the most appropriate answer from the options given below :

(1) (A}, (D) and (E} only

prepp
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(2) (B}, (C) and (E) only
(3) (B), (D) and (E) only
{(4) (A), (C) and (D) only

farear & A stz wgar frora @ aicela o Bvan sri aga-oin wekogn o gsmfene:

(A) zalicizft BrRian

(B) =eiiv gworIivaes Az oRkoa
(C) caftpsra w1 origH

(D) arz e wirRiaH

(E) Irs=1 gepRilcas Angizasa

a1 en =1e fnpoal & 3 718 397 @1 o=t ik

(1) wae (A), (D) ail? (E)
(2) @saer (B), (C) aiie (E)
(3) wae (B), (D) sz (E)
(4) @ae (A), (C) Ak (D)

[Question ID = 1265][Question Description = Q62_AE_SHAAN_20NOV21_51_Shift1]
1. 1

[Option ID = 5057]
2. 2

[Option ID = 5058]
3 3

[Option ID = 5059]
4. 4

[Option ID = 5060]
63) Higher education includes:

(A) Tertiary, third stage

(B) Senior Secondary Education
(C) Post Secondary Education
(D) Junior Colleges

(E) Secondary Education

Choose the correct answer from the options given below :

(1) (A) and (C) only
(2) (B) and ([}) only
(3) {C) and (E)} only
(4) {A) and (B) only

Fea 918 @1 it Re= o 31 gorT s 87

(A) arfterr, diar seon
(B) afre meafine Mign
(C) saz-meafias fden
(D) wico @wick

(E) amafies forsn

oifer o are femsedl 3 31 A JUgEp I &I A DIl |

(1) et (A) iz (C)
(2) @xer (B) iz (D)
(3) e (C) st (E)
(4) et (A) 3 (B)

[Question ID = 1266][Question Description = Q63_AE_SHAAN_20NOV21_51_5hift1]
1. 1

[Option ID = 5061]
2. 2
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[Option ID = 5062]
£

[Option ID = 5063]
4, 4

[Option ID = 5064]
64) Which of the following are the sources of primary data

(A) Intercept interview
(B) Cognative pretesting
(C) New papers

(D) Reports

(E) Web sites

Choose the correct answer from the options given below :

(1) (A) and (C) only
(2) (A) and {B) only
(3) (C) and (D)} only
(4) (D) and (E) only

ottt 3 A oler AT ol aiiasS oo Jia § -

(A) ORI AISDIE
(B) sismenasre gd adlsmr
(C) o Uy

(D) i€

(E) amarsca

s o 7o finpoal & 3 718 307 @1 om @ilhn
(1) =xer (A) sz (C)
(2) wxaer (A) iz (B)

(3) @ (C) shiz (D)
(4) axger (D) iz (E)

[Question ID = 1267][Question Description = Q64_AE_SHAAN_20NOV21_51_Shift1]

1.1

[Option ID = 5065]
2k

[Option ID = 5066]
3.3

[Option ID = 5067]
4. 4

[Option ID = 5068]

65) Mational Education Policy 2020 views which of the following as basic rights of every citizen

(A) Education

(B) Livelihood

(C) Vocational training
(D) Foundational literacy
(E) Economic literacy

Choose the correct answer from the options given below :

(1) (A), (B) and (C}only  (2) (B), (C) and (D) only
(3) (4), (B) and (D) only  (4) (C), (D) and (E) only

e oftem 2020 ofifer oo 3 21 fopdl udle eIy @1 ki affrere Arerdt 87

(A) Bign

(B) ansiifaesT

(C) =maaREr afysr
(D) smemase FTSEl
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' (E) anf3les mgrsen

(1) @aer (A), (B) sz (C)  (2) e (B), (€) sz (D)
(3) @xet (A), (B) afiz (D) (4) @aer (C), (D) sz (E)

[Question ID = 1268][Question Description = Q65_AE_SHAAN_20NOV21_51_Shift1]
1. 1

[Option ID = 506%]
2. 2

[Option ID = 5070]
3.3

[Option ID = 5071]
4. 4

[Option ID = 5072]

66) Match List | with List [l

List I List Il
(A} Swami Vivekananda () Pedagogy of the oppressed
(B) Mahatma Gandhi (Il) Active Communion with nature
{(C) Rabindranath Tagore (I} Character formation
(D) Freire (I¥) Nai Taleem

Choose the correct answer from the options given below
(1) (A}-(1}, (B)-(IV), (C)-(11), (D)-(1)

(2)  (A)-(), (B)-(IN), (C)-(IV), (D)-()

(3)  (A)-(1), (B)-(IV), (C)-(1N), (D)-(I)

(4)  (A}-(D), (B)-(lIN), (C)-(IV}, (D)-(11)

eit-1 @ mre 3t w1 fere Gifsre

SGidl -1
(A) awil faoreic () sl o1 Rismemsyg
(B)  wgream aitelt (1) gepfer & aer Fnftpa YT
(C) diogomer &itz () afxy Gmio

(D) = (IV) o acian

ol 6w s1¢ Rresedl 3 A 78 Fav wi ket BifE
(1) (A)-Ql), (B)-(IV), (C)-(I1), (D)-(1)
(2)  (A)-(D), (B)-(IN), (C)-(IV), (D)-(D)
(3)  (A)-(), (B)-(IV), (C)-(IN), (D)-(D)
(4)  (A)(), (B)-(IIN), (C)-(IV), (B)-(M)

[Question ID = 1269][Question Description = Q66_AE_SHAAN_20NOV21_51_Shift1]
1. 1

[Option ID = 5073]
2. 2

[Option ID = 5074]
3 3

[Option ID = 5075]
4. 4

[Option ID = 5076]

67) Match List | with List Il

List | List Il
(A} Extension () Application Technology of
Education
(B) CAL {(Il) Literacy and Numeracy

(C} JSS (1} Third dimension of university

prepp
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{D) TLC

(IV) Vocational skills

Choose the correct answer from the options give below:

(1) (A1}, (B)-(I), (C)-(IV), (D)-(I)
(2)  (A)-(I), (B)-(lI), (C)-(1}, (D)-(IV)
(3) (A1), (B)-(lI), (C)-(IV), (D)-(I)
(4) (A}, (B)-(1), (C)-(IV}), (D)-(1)
aefi-1 @ wrer axehi-1| o1 Bremer Sifte
aedi-|
(A) g=ae
(B) Huum

(C) Slwawxa

(D) &duwa

oIy feu a1e fAamecal # 31 A8l Iz o wra oifse @

(1) (A)-(l1), (B)-(I), (C)-(1V), (D)-(I)
(2) A, B)-(l, (€)-(1), (B)-(1V)
(3)  (A)-(I), (B)-(I), (C)-(1V), (D)-(1)
(4)  (A)-(ll}, (B)-(1}, (C)-(IV), (B)-(I)

[Question ID = 1270][Question Description = Q67_AE_SHAAN_20NOV21_51_5hift1]

1.1

[Option ID = 5077]
2, 2

[Option ID = 5078]
3.3

[Option ID = 5079]
4, 4

[Option ID = 5080]

68) Match List | with List Il
List |
(A} The Open University
(B) Everyman University
{(C) Free University

(D} University of the Air

-l

() Ruen B srgoRier =B
() Jrzm siiv JA=nwa

(1) Traftercr @ dlseT R
(V) =gl osivia

List Il
() Iran
() Israil
{11y Japan
(V) UK

Choose the correct answer from the options give below:

(1) (A}, (B)-(lI}, (C)-(1II}, (D)-(IV)
(2)  (A)-(lll}, (B)-(M), (C)-(1}, (D)-(IV)
(3) (A1), (B)-(IM), (C)-(IV), (D)-(1)
(4)  (A)(IV), (B)-(I1), (C)~(1), (D)-(INT)

ht-| o Arer i1l oot Biener difsre

et

(A) 1 aitoror gl
(B) uafiiie PRI
(C) ot geraRid

(D) uPEBE amw £ wR

a1 en =1e fnpoal & 3 718 397 @1 o=t ik

(1) (A)-(D), (B)-(lI}, (C)-(1II}, (D)-(IV)
(2)  (A)-(lll}, (B)-(), (C)-(1}, (D)-(IV)
(3)  (A)-(I1), (B)-(I), (C)-(IV), (D)-(I)

(A)-(1¥), (B)-(I1), (C)-(1), (D)-(IlI)

(4)

-1l
I =
()  somE
() s

) g
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[Question ID = 1271][Question Description = Q68_AE_SHAAN_20NOV21_51_Shift1]
154

[Option ID = 5081]
2. 2

[Option ID = 5082]
3 3

[Option ID = 5083]
4. 4

[Option ID = 5084)

69) Match List | with List Il

List | List Il
(A} Mass Approach () DPEP
(B) The Selective Approach () TLC
(C) Area Based Approach (llly NAEP
(D} Centre Based Approach (IV) FFLP

Choose the correct answer from the options give below:
(1) (A)-(V), (B)-(ll), (C)-(IN), (D)-(I)

(2) A, (B)-(IV), (C)-(), (D)-(11)

(3)  (A)y-(I), (B)-(I), (C)-(II1}, (B)-(1V)

(4)  (A)-(l), (B)-(I), (C)-(1}, (B)-(IV)

i1 @ Fmer -1l &t firemer SHifse

7| -l

(A) I o H FHdrfd
(B} R dafica wga (I & waft
(€) ufrn ¥= v () waw#d
(D) FezdzsugEm (IV) v uw we dl

offal fou s1e fasedl 3 31 78l Fne &1 aga Hifae
(1) (A}-(¥), (B)-(1m), (C)-(11), (D)-(1)
(2)  (A)-(), (B)-(IV), (C)-(1), (D)-(1M)
(3)  (A)-(), (B)-(1}, (C)-(IN1), (D)-(1V)
(4)  (A)-(lI}, (B)-(N), (C)-(I}, (D)-(IV)

[Question ID = 1272][Question Description = Q69_AE_SHAAN_20NOV21_51_Shift1]
11

[Option ID = 5085]
2. 2

[Option ID = 5086]
e

[Option ID = 5087]
4, 4

[Option ID = 5088)

70) Match List | with List [l

List | List Il
(A} The mature mind () Knowles (1950)
(B) Informal Adult Education (I1y Bruner (1959)

(C) An overview of Adult Education

My Kidd (1973
Research o ( )

(D} How Adult learn (IV)} Harry Overstreets (1949)

Choose the correct answer from the options give below:

(1) (A}-(1), (B)-(I1}, (C)-(IV), (D)-(1M)

prepp
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- (2)  (A)QV), (B)-(1}, (C)-(1D), (D)-(IM)
(3)  (A)-(lll}, (B)-(IV), (C)-(I}, (D)-(NT)
(4)  (A)-(11), (B)-(1}, (C)-(1lI}, (D)-(IV)

ht-| @ e 3pEhi-11 <ot fema it @

aedi-| il
(A) R e aEs (1)  iaca (1950)
(B) sorwwicl TsTe TEDYET () =iz (1959)

(C) v 3iiaecy 3D GsTe Togberet frarcd () FRos (1973)

(D) &1 usce ot (IV) 3% sdeeriicn (1949)

oikl fow o1e fawpedl A 3 8t 3t I = difarg :
(1) (Ay-(), (B)-(I1}, (C)-(IV), (D)-(IN1)
(2)  A)(V), (B)-(I), (C)-(IN), (D)-(111)
(3)  A)-(l), (B)-(IV), (C)-(I), (D)-(I1)
(4) (A}, (B)-(I), (C)-(1lI}, (D)-(IV)

[Question ID = 1273][Question Description = Q70_AE_SHAAN_20NOV21_51_5hift1]
j it

[Option ID = 508%]
2. 2

[Option ID = 5090]
3.3

[Option ID = 5091]
4, 4

[Option ID = 5092]

71) Match List | with List 1]

List | List 1l
(A) Recapitulation () Thorndike
(B} Connetionism (Il) Dewey
{C) Pragmatism {1y Judd
{D} Functionalism {IV) Hull

Choose the correct answer from the options give below:
(1) (Ay(D), (B)-(I1}, (C)=(1II}, (D)-(IV)

(2)  (Ay(V), (B)-(1}, (C)-(11), (D)-(IN1)

(3)  (Ay(1ll}, (B)-(N), (C)-(I}, (D)-(IV)

(4)  (Ay(V), (B)-(1), (C)-(I), (D)-(IN1)

reit-| & wrer eit-11 @1 frener Sifsre

aefi-| -l
(A)  gormada () sifslsrw
(B) sidiisrorarg (I ==
(C) =R (=15
(D) ywriaE (V) =z

oikl fow o1e fawpedl A 3 8t 3t I = difarg :
(1) (Ay-(), (B)-(I1}, (C)-(1N1}, (D)-(IV)
(2)  (A¥-(IV), (B)-(1}, (C)-(11), (D)-(IN1)
(3) (A1}, (B)-(), (C)-(1}, (D)-(IV)
(4)  (A¥-(IV), (B)-(I1), (C)-(I), (D)-(IN1)

[Question ID = 1274][Question Description = Q71_AE_SHAAN_20NOV21_51_Shift1]
1. 1
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[Option ID = 5093)
Ll

[Option ID = 5094]
3.3

[Option ID = 5095]
4. 4

[Option ID = 5096]

72) Match List | with List Il
List |
(A) School Chalein Hum
(B) Bell Bajao
(C) Ek Boond Zindagi ki

(D) Jab Tak Dawai nahin, tab tak
Dhilai Nahin

List 1l
(I)  Polio eradication compaign
(II) Corona pandemic

(Ill) Sarv Shiksha Abhiyaan

(I¥) Domestic Violence

Choose the correct answer from the options give below:

(1) (Ay-(Il1}, (B)-(), (C)-(IV), (D)-(1)
(2)  (Ay-(Il1}, (B)-(IV), (C)-(1}, (D)-(11)
(3)  (Ax-(Il), (B)-(1N), (C)-(IV), (D)-(1)
(4)  (A)-(IV), (B)-(l), (C)-(1}, (D)-(11)
axht-| @ wrer aht-1| o1 RBrener Bife
i

(A) F@mais

(B)  cr oAl

(C) v & Rigolt Bt

(D) o oo zad o aa aw Bk =&
oil few 1w faamcdl d 3 18t it @I wRIa Hife ¢
(1) A)-(l), (B)-(I), (C)-(IV), (D)-(I)
(2)  A)-(), (B)-(IV), (C)-(I), (D)-(I1)
(3) (A}, (B)-(I), (C)-(IV), (D)-(I)
(4)  (A)-(IV), (B)-(l), (C)-(1), (D)-(11)

-l
(1) iferil Isaciol AfsRIeT
(Il) iz AEnd
(1N} =didrgn afdre
(IV) a¥wg e

[Question ID = 1275][Question Description = Q72_AE_SHAAN_20NOV21_51_5hift1]

1. 1

[Option ID = 5097]
2, 2

[Option ID = 5098]
e

[Option ID = 5099%]
4, 4

[Option ID = 5100]

73) Match List | with List Il

List |
(A} MGNREGA
(B) NSTFDC
(C) NSFDC

(D) NMFDC

List I

(I} Ministry of Social Justice
and Empowerment

() Ministry of Tribal Welfare

(N1} Ministry of Minority Development
Corporation

(IV} Ministry of Rural Development

Choose the correct answer from the options give below:

(1) (A}-(0), (B)-(IV), (C)-(), (D)-(1)
(2)  (A)-(D, (B)-(lI}, (C)=(IV), (D)-(IN)
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- (3)  (A)(IY), (B)-(IN), (C)-(1), (D)-(IN)
(4)  (A}(V), (B)-(I), (C)-(1}, (D)-()
it @ zmer x| o1 Brema Sifte
it |

(A) @eeT

(B} vl vH ¢ uw dt

(C) vol o uwwp 3t 3t

(D} ool oH ww 3t 3t
oikl fow o1e fawpedl A 3 8t 3t I = difarg :
(1) (A}-(I), (B)-(I¥), (C)-(1), (D)-(1)
(2)  (A}-(), (B)-(I1}, (C}-(IV), (D)-(IN)
(3)  (A)-(IV), (B)-(IN), (C)-(), (D)-(I)
(4)  (A)(IV), (B)-(l), (C)-(1}, (D)-(I)

il
() SEUBED s s AP FgreR
() oIl weamT dqrer

()  srcumi=er R BERL figrert
(IV) speitor forprat sigrert

[Question ID = 1276][Question Description = Q73_AE_SHAAN_20NOV21_51_5hift1]

1.1

[Option ID = 5101]
2. 2

[Option ID = 5102]
3.3

[Option ID = 5103)
4. 4

[Option ID = 5104]

74) Match List | with List Il
List |
(A} Deductive; test theory
(B} Uses standardized instruments

(C) To study relationships, cause and
effect

(D} Developed prior to study
Codes:
(1) (A1), (B)-(IN), (C)-(1}, (D)-(IV)
(2)  (Ay-(), (B)-(IN), (C)-(I1), (D)-(IV )
(3)  (Ax-(Il), (B)-(IV), (C)-(lID), (D)-(1)
(4)  (Ax-(lll}, (B)-(IV), (C)-(ID), (D)-(1)

Y- | & warer -1l @ frener Gifsre
=i
(A) Gemaras; aflan Rigia
(B) awerdbigy JUEI0Il I YEIPT w1 &

(C) el vd SrimRw HAdell @1 AR
W

(D) ==t 9 gd Ao
il R s1g Rraseal 9 71 78 a7 w1 ava $ifwe :
(1) (A1, (B)-(), (C)-(1}, (D)-(IV)
(2) (A, (B)-(I), (C)-(II}, (D)-(IV)
(3) (A1), (B)-(IV), (C)-(IIN), (D)-(1)
(4)  (Ay(lll}, (B)-(IV), (C)-(IN), (D)-(1)

List Il
1] Design

() Purpose
(lll) Approach

(V) Tools

presig]!
) 5| B

(I =z
()  abe@

{IV) samrer

| [Question ID = 1277][Question Description = Q74_AE_SHAAN_20NOV21_51_Shift1]
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|

[Option ID = 5105]
1)

[Option ID = 5106]
3,53

[Option ID = 5107]
4. 4

[Option ID = 5108]

75) Match List | with List Il
List | List Il
(A) Devid Kolb )} Communities of practice
(B} Etienne Wenger (1) Cognitive development
(C)  Knud llleris () Experiential Learning
(D) Jean Piaget (I¥) Three Dimensions of learning
Codes:

(1) (A)-(1), (B)-(I), (C)-(IV), (D)-(I}
(2)  (A)-(I1), (B)-(1V), (C)-(lII), (D)-{1)
(3)  (A)-(IIy, (B)-(1), (C)-(1IV), (D)-(I}
(4)  (A)-(IV), (B)-(11), (C)-(N), (D)-(1I1}
i1 & wwwer aghi-11 ot R Gifvm

it x=h-1l
() cagER & AR (GRS D
A) 3= wiew
(A) Sferean)
(B) ufor durz (I) s fder (Gilfada 2acuiic)
(C) o zaf= (I yrhte aftrm (SoaatDea afsb)
(IV) sffem & dier s (off s13diors aife
(D) Sha Rema abk)

ol few a1w forpoul # 31 318 30z ©f wiel Hifsw
(1) (A)-(1), (B)-(1I), (C)-(IV), (D}-(II}
(2)  (A)-(I), (B)-(IV), (C)-(NII), (D)-(I)
(3} (A)-(I), (B)-(1), (C)-(IV), (D)-(I1)
(4)  (A)-(IV), (B)-(I), (C)-(1), (D)-(II)

[Question ID = 1278][Question Description = Q75_AE_SHAAN_20NOV21_51_5Shift1]
1.

[Option ID = 5109]
2. 2

[Option ID = 5110]
3.3

[Option ID = 5111]
4. 4

[Option ID = 5112]

76) Arrange the following developmental programmes in order these were started :

(A) Sakshar Bharat

(B) National Extension service

(€) National Adult Education programme
(D) Community Development preogramme
(E) National literacy mission

Choose the correct answer from the options given below :

(1) (A), (B), (D), (C), (E) (2) (B), (C), (A}, (D), (E)
(3) (€), (A), (D), (B), (E) (4) (D), (B), (C), (E), (A)

prepp

Your Personal Exams Guide



www.prepp.in . re p p

Your Personal Exams Guide

frrafeilaa Rrwrarens wrioal o sad sy e si6t @ am # saaBera Hifs

(A) TgE smEd

(B) wrediar gz A

(C) ot i foren orRicH
(D) Arrerr Rrpr wrkon
(E) arsgir amarzan froret

skl ien oo fnpoal & 3 718 307 o1 o= ik

(1) (A), (B), (D), (C), (E}  (2) (B), (C), (A), (D), (E)
(3) (€), (A), (D), (B), (E}  (4) (D), (B), (C), (E), (A)

[Question ID = 1279][Question Description = Q76_AE_SHAAN_20NOV21_51_5hift1]
|

[Option ID =5113)
2.2

[Option ID = 5114]
3.3

[Option ID = 5115]
4, 4

[Option ID = 5116]

77) Arrange the following for starting Adult Education centre :

(A) Aquiring teaching learning material
(B) Infrastructure physical facilities

(C) Survey of location

(D} Selection of the venue

(E) Initiation of teaching

Choose the correct answer from the options given below

(1) (€), (D), (B}, (A), (E)
(2) (D), (C), (B}, (A), (E)
(3) (€), (D), (A), (E), (B)
(4) (B), (C), (A), (E), (D)

gi;:& fArgm diogl Ot Fenuen & e PrafdilRan o awag G @

(A) forarer siitera sorel) snfia ween
(B) sitfers FgfRremail & smemeay Hvaen
(C) zerrer wr Aadarer

(D) 121871 W1 3N

sy f2v =1y Roseal # A 78 sav o1 oga e

(1) (C), (D), (B), (A), (E)
(2) (D), (C), (B), (A), (E)
(3) (C), (D), (A), (E), (B)
(4) (B}, (C), (A), (E), (D)

[Question ID = 1280][Question Description = Q77_AE_SHAAN_20NOV21_51_Shift1]
1. 1

[Option ID = 5117]
7.2

[Option ID = 5118)
3.3

[Option ID = 5119]
4. 4

[Option ID = 5120]

78) ldentify the features of a good research design
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(A) Flexible

(B) Long duration
(€} Inconsistency
(D) Efficient

(E) Economical

Choose the correct answer from the options given below
(1) (A), (B) and (E) only
(2) (A), (C) and (E) only
(3) (A), (C) and (D) only
(4) (A), (D) and (E) only

0 gEena Afiecden &l Rigraanii o! Rifga o3

-

(A) orficht
(B) Lrfafere

(C) e
(D) Brim
(E) forwridt

i1 2w s1e faoscal 3F 31 JEl Inz o @RIa i

(1) e (A), (B) afiz (E)
(2) e (A), (€) afiz (E)
(3) o=@ (A), (C) 3z (D)
(4) @=e (A), (D) itz (E)

[Question ID = 1281][Question Description = Q78_AE_SHAAN_20NOV21_51_5hift1]
2 B

[Option ID = 5121]
2, 2

[Option ID = 5122]
3.3

[Option ID = 5123)
4, 4

[Option ID = 5124]
79) Who is the father of demography?

(1) John Grant  (2) Cary Grant
(3) John Cena {4) John Lewis

SloIHIRRS @I Slolde Rp3l @al rar &7

(1) sitet 33ic (2) && 7pic
(3) sifor donr (4) difor Afr=r

[Question ID = 1282][Question Description = Q79_AE_SHAAN_20NOV21_S1_Shift1]
1. 1

[Option ID = 5125]
Z. 2

[Option ID = 5126]
e

[Option ID = 5127]
4, 4

[Option ID = 5128]
80) SCERT means

(1) Society for Continuing Educational Research and Training
(2) Special Commission of Educational Research and Training
(3) State Commission of Educational Research and Training

(4) State Council of Educational Research and Training
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SCERT (=1 =it  ane &) wor aref

(1) sterer Ruen arggeiemet 3ii= g siemsdt
(2) forz0 swpzema 3tz gidigmor Hael Rt Fu=ier
(3) forzm smgziena 3itz gidramr et w==1 Imtet
(4) sa difdrw srgzienst afiz gidmr udias

[Question ID = 1283][Question Description = Q80_AE_SHAAN_20NOV21_51_Shift1]
1. 1

[Option ID = 5129]
.00

[Option ID = 5130]
3.3

[Option ID = 5131]
4. 4

[Option ID = 5132]
81) Arrange the following elements of the classical curriculum in order of sequencial maner

(A) Didactic instruction
(B) Objectives

(C) Evaluation

(D} Content

Choose the correct answer from the options given below

(1) (A), (B), (C), (D)
(2) (B), (D), (C), (A)
(3) (D), (A), (B), (C)
(4) (B), (D), (A), (C)

SNEJIRT UIgRIGA @ fordol wirdl ©I Gl cadiderd Hifarm :

(A) SUZonraTD ALl
(B) 32ou

(C) Fraroe

(D) ferorrasyg

oIy feu a1e famecal & 31 Adl Iz o wrIe oifss @

(1) (A), (B), (C), (D)
(2) (B), (D), (C), (A)
(3) (D), (A}, (B), (C)
(4) (B), (D), (A), (C)

[Question ID = 1284][Question Description = Q81_AE_SHAAN_20NOV21_51_5hift1]
1.1

[Option ID = 5133)
2. 2

[Option ID = 5134]
3.3

[Option ID = 5135]
4, 4

[Option ID = 5136]

82) Arrange the following needs in order to Maslow’s hierarchy of needs

(A) Physiological

(B} Love and Belonging
(C) Safety

(D} Self esteem
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(E) Self Actualization

Choose the correct answer from the options given below

(1) (€), (B), (D), (A}, (E}) (2} (A), (B), (C), (D), (E)
(3) (E), (C), (B), (A), (D) (4) (A), (C), (B), (D), (E)

Fizell & smagamar Aurforbt & amenz uz hwafolan srasama o «raléer Hifae ¢

(A) enhifr FaEl
(B) U@r afiz agerca

(C) zgzan
(Dt} atea HFaTSL

(E) s graeltasam

i1 2w s1e faoscal 3F 3 JEl Inz o @rIar &Hifss ;

(1) (€), (B), (D), (A}, (E}  (2) (A), (B), (C), (D), (E)
(3) (E), (C), (B), (A), (D}  (4) (A), (C), (B), (D), (E)

[Question ID = 1285][Question Description = Q82_AE_SHAAN_20NOV21_51_Shift1]
R

[Option ID = 5137]
2.2

[Option ID = 5138)
3. 3

[Option ID = 5139]
4. 4

[Option ID = 5140]

83) Arrange the following steps in order to intreprete coefficient

prepp
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(A) A one-unit increase in the independent variable means going from the reference category to the indicator category

(B} |dentify the indicator category

(C) The coefficient B the difference on average between the indicator and reference category of the dependent variable

(D) Identify the dependant variable and its units
(E) Identify the reference category

Choose the correct answer from the options given below

(1) (E), (A), (B}, (C), (D} (2} (B), (C), (D), (A), (E)
(3) (B}, (E}, (A}, (D), (C) (4) (A), (C), (B), (D), (E)

s> 1 ulsaite @l acl TR B GHRRR i Bt

(A) us wise T @ ¥ R D P9 7 aor o el ¥ dgd ol A oo okt # swen
(B) zicsers Syoft &t usare Him

(C) s iz =u A fonfz a7 & Fa® iz Ficf ot & da v siaz 3

(D) forstz @z 3fiz soaeht swors=il Al uzam bifse

(E) it gpoft & ugarm Gifste

oIy feu o1e fAoscal & 31 A8l Iz o wRre oifse @

(1) (E), (A), (B), (©), (D}  (2) (B), (C), (D), (A), (E)
(3) (B), (E), (A), (D), (C} (4} (A), (C), (B), (D), (E)

[Question ID = 1286][Question Description = Q83_AE_SHAAN_20NQV21_S1_Shift1]
1.1

[Option ID = 5141]
2. 2

[Option ID = 5142]
Fiid

[Option ID = 5143]
4, 4

[Option ID = 5144]

84) Arrange the following tasks for collecting the data
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(A) Identifying the Tangent

(B) Collecting sensitive items
(C) Quantifying the information
(D) Finalizing the tool

(E) Canvasing the tool

Choose the correct answer from the options given below

(1) (A), (B), (C), (D), (E)
(2) (A), (B), (C), (E), (D)
(3) (A), (B), (D), (E), (C)
(4) (C), (D), (E), (A), (B)

iths Wb Dol & fogar o wrafiam Hiferns ;

{A) Eaic &t uzam e

(B) ariferar #21 ! woe) BIell
(C) yperemsii o afsmira wran
(D) 3o @1 sifera wa 2an
(E) Fawsyor @51 g1z wyan

i1 2w s1e faoscal 3 31 7El Iz o @RIa &Hifss

(1) (A), (B), (C}, (D), (E)
(2) (A), (B), (C}, (E), (D)
(3) (A), (B), (D), (E), (C)
(4) (C), (D), (E), (A), (B)

[Question ID = 1287][Question Description = Q84_AE_SHAAN_20NOV21_S1_Shift1]
1. 1

[Option ID = 5145]
2. 2

[Option ID = 5146]
35

[Option ID = 5147]
4, 4

[Option ID = 5148]
85) Arrange the following in order to a learning cycle

(A) Agencies of transmission sending data about global/local culture

(B) Individual integrates learning into biography and may act on outcomes
(C) Person receives and processes data

(D) Global local culture changing at varying speeds

Choose the correct answer from the options given below

(1) (D), (A), (C), (B)

(2) (A), (C), (D), (B)

(3) (B}, (A), (D), (C)

(4) (C), (D), (B), (A}

foramteitian o aftem oo & wu i caatien Hifag |

(A) Gffae/Fareiia Fiv<gpia A AFg Jlips Asiol drel AT

(B) safis aRpma ot Sftaa afy 2 S § itz afyvonai uz o o 10 &
(C) zafir 3ifess qua w3 § 3z geiywyn oW 3

(D)} &facs / remcite demtar fie-6m a1l 3t afaffa @ & 2

skl ien oo fnpoal & 3 718 307 o1 o= ik

(1) (D), (A), (C), (B)
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(2) (A), (C), (D), (B)
(3) (B), (A), (D), (C)
(4) (C), (D), (B), (A)

[Question ID = 1288][Question Description = Q85_AE_SHAAN_20NOV21_51_Shift1]
1.1

[Option ID = 5149]
2. 2

[Option ID = 5150]
3.3

[Option ID = 5151]
4. 4

[Option ID = 5152]
86) Arrange stages of memory processing in correct sequence

(A) Storage
(B) Process
(C) Retrieval
(D} Encoding

Choose the correct answer from the options given below
(1) (B}, (C), (A), (D)
(2) (A), (B), (C), (D)
(3) (D), (B), (&), (C)

(4) (D), (A), (B), (C)

Fyfer griTerssor @ onl oot A gy d oenEw:

(A) sizraon

(B) gRgzn
(C) sudiaret
(D) wrstasaor

i1 2w s1e faoscal F 3 7l anz o @=Ia i

(1) (B), (C), (A), (D)
(2) (A), (B), (C), (D)
(3) (D), (B), (A), (C)
(4) (D), (A), (B), (C)

[Question ID = 1289][Question Description = Q86_AE_SHAAN_20NQV21_S1_Shift1]
1. 1

[Option ID = 5153]
Z. 2

[Option ID = 5154]
e

[Option ID = 5155]
4, 4

[Option ID = 5156]

87) The stages associated with the knowledge and behaviour comprise of following. Arrange there in a sequence of their
occurrence

(A) Knowledge

(B) Group behaviour
(C) Attitude

(D) Information

(E) Behaviour

Choose the correct answer from the options given below
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(1) (A), (B}, (C), (D}, (E) (2) (B), (C), (D), (A), (E)
(3) (D), (A}, (C), (E), (B) (4) (D}, (C), (E), (A), (B)

SH 3117 KGR A w6k Yl 3 orefclian aidalkm 3 soé s alda dler & amene a7 @ 31 wmbua ok,

(A) =er

(B) wngfew caaer
(C) atfirgfr

(D) Fpzen

(E) =razr

oIy feu a1e famecal & 31 Adl Iz o wrIe oifss @

(1) (A), (B), (C), (D), (E) (2} (B), (C), (D), (A), (E)
(3) (D), (A}, (C), (E), (B) (4) (D), (€}, (E}, (A), (B)

[Question ID = 1290][Question Description = Q87_AE_SHAAN_20NOV21_S1_Shift1]
1. 1

[Option ID = 5157]
2. 2

[Option ID = 5158]
3.3

[Option ID = 5159]
4, 4

[Option ID = 5160]
88) Arrange the following phases as the instructional process in order to sequencial manner

(A) Attentiveness

(B) Coding

(C) Storage entry

(D) Expectancy

(E) Selective perception

Choose the correct answer from the options given below

(1) (B}, (C), (D), (E), (A) (2} (D), (A), (E), (B), ()
(3) (A), (B), (E}, (D), (€) (4) (B), (A), (D), (E), (C)

fBremferf¥ae srordor gfdemn-areoll @ s wa # wmfim SifSne

(A) Iaaan

(B) wirmior (wifer)
(C) #Hemzot gfafic
(D) gremen

(E) o= aes sradien

sy v =1y Rrpeal d A 78 sav o1 oga Hifee

(1) (B}, (C), (D), (E), (A) (2} (D), (A), (E), (B), (C)
(3) (A), (B), (E}, (D), (C) (4} (B), (A), (D), (E), (C)

[Question ID = 1291][Question Description = Q88_AE_SHAAN_20NOV21_51_Shift1]
1. 1

[Option ID = 5161]
2, 2

[Option ID = 5162]
3.3

[Option ID = 5163)
4. 4

[Option ID = 5164]

89) Given below are two statements :

Statement | : People are motivated to learn if it can satisfy a basic need such as desire for new experience, security
affection, recognition, growth etc
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Statement Il : Adult learners learn best when they have a strong desire to learn with clear goals before themselves and are
over confidence about themselves

In the light of the above statements, choose the most appropriate answer from the options given below

(1) Both statement | and Statement Il are correct
(2) Both statement | and statement Il are incorrect
(3) Statement | is correct but statement Il is correct
(4) Statement | is incorrect but statement ll is ¢c&
oY @1 oot g s F ;

werd (1) ¢ aet s & gfer gfea e 8 eer g Jeht giorardt smagerean &t gid @ &, Siei-orn sgpia, s, oPnd, dAledr, iora sule
5t arrepian / <os

wed (1) : gice Rrzned ag adocs sl & s/ o Jae Face oz2rll © A1y HAwmas O g 51 il § 3 ol v @ = 3 affsmeniirasit
F:1 75 o

IWRYTe Dl D AICIkD 4, ol [Gu 31¢ forpeul d A1 192 3UrD I @l W6 HifaIe |
(1) wawat (1) sz (M) <ot =8 3

(2) wua (1) sfiz () Sl s &

(3) @t (1) wEt 3, afcoa wera (1) o1em 3

(4) wue (1) =ea &, ikbal wem (Il) w8t &

[Question ID = 1292][Question Description = Q89_AE_SHAAN_20NOV21_51_Shift1]
1.1

[Option ID = 5165]
2,2

[Option ID = 5166]
3.3

[Option ID = 5167]
4. 4

[Option ID = 5168]

90) The First shramik vidyapeeth was established in
(1) Mumbai (2) Pune
(3) Delhi (4) Madras (Chennai)

gerd orirp fdemdia FenitnT g2

(1) s (2) g
(3) Reeit  (4) w1grA (Aoor?)

[Question ID = 1293][Question Description = Q90_AE_SHAAN_20NOV21_51_5hift1]
J

[Option ID = 5169]
2. 2

[Opticn ID = 5170]
3.3

[Option ID = 5171]
4, 4

[Option ID = 5172]

Topic:- 46AdultEdu_B
1) Read the passage carefully and answer the following question :

The more rapidly knowledge changes the more the recipients have to learn and the more society emphasizes this need to
learn. The learning society - as a concept - is therefore the inevitable outcome of societies focusing on both information and
knowledge,

The learning society, however is both a confused and a confusing idea that requires some explication, but in this instance
the learning society is associated with social change. The more prevalent or profound the changes that occur in a society,
the greater the likelihood that it will be regarded as a learning society because its members have to learn in order to keep
abreast with structural and work-based changes, There is a clear sense that there are two different types of knowledge:
that necessary for social and cultural life, which once we have learned we can take for granted; and that which is work-
based in order to increase consumption or that which is necessary for the military defence of the people. Knowledge
necessary for social and cultural life often changes very slowly, a feature that is essential for social stability, whereas the
demands of capitalism require new knowledge so that the latter changes very rapidly, thereby demanding a greater
emphasis on learning. There must be both learning and non-learning in social living. To some extent, traditional society is
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premised on non-learning because we expect things to remain the same, whereas modern societies change rapidly and so
learning societies have emerged,

As per the text addition of new knowledge has warranted

(1) Unlearning (2} Resistence
(3) lgnoring (4) Learning

forraifertian srerion &1 Imaciigds ud iz oftd Ry s1u gest &1 3z & ¢

Hlel @ 8, A [eieell et 31 uf¥ade e 2, sa Qi et arcdl o1 S &t AR Hismen usdr & 3z 33! sl &l agersdr Uz A 3d6l
& auftrs gar Sar 8 THwrd awen Faer - swasnzon @ wu A - wufe sa mas o sabysrt afyors Siar ¥ S syaen i s Sioll a9 ga 3G ¥

dentty, Hietolaren Jam= afid afiz i frenzena ol 2lar 8 forerd [ée Fuséiopzul &l aragarmdr 8Xdt 3 udg 721 gecia 3 Hi=eraren wars,
ARG utsadet 3 5151 & el # slol aren uf¥adel Braen aftrr =arass iz s1ea1 21T 8, s3 i bl ke il aitrr skl E Ry 331 s1eirst
@1 el aen A A A9 RIS 3390 Al ®f Ak ad Az wri-aneniya af¥adsi Bt ammoil sdhiilt ma & e dhaer usar g
76 A Facee § B oo 45 ) scer-3aer i 8 ¥ 1 e il 96 ol AanmBer div aivolcs siaa @ Rie snavers 8, Bl swor welt 2 3 s
o121 291 Jreiene e &, 31T 9z Sl Tued daolel @ e ori uz arenfra & ag =il cieil &6 Jiowa 280 o fow Al 2 amnbere s airpiee olan
& fere A Silel & stz ol el ;i 2 afYade diar 2, a2 az fadaar 2 St wmnfae Rezar @ ferw sragas 2l 8 siafs deftare &t aiter
D fere oo siar 6t sl Sl  aRif s &St sl 31 udladder s & BreRt et ur agn affce aa G soen  wenhiie stiae #
forgmor sfiz 3r=forgmr Sieil onfdra glen @ifge g Wi as wuzEK Jena 313 forgmn uz anenfy glan 2 a=iifs & @ed 2 fs Rrefer gdaa asft =2
stafls snegforas aars 3 aga dsit A ufvaddsr fiar 3 suftte e @ @St o 3o g 8

I @ MoAR o wrel R gy @ Rre Beafefaa &t soaowesar Bt @

(1) 3ta-Rrgmor (yerafoler)  (2) gferder
(3) sFstier el (4) forgro

[Question ID = 1294][Question Description = Q91_AE_SHAAN_20NOV21_51_5hift1]
Te 5

[Option ID = 5173)
2. 2

[Option ID = 5174]
3.3

[Option ID = 5175]
4, 4

[Option ID = 5176]

2) Read the passage carefully and answer the following question :

The more rapidly knowledge changes the more the recipients have to learn and the more society emphasizes this need to
learn. The learning society - as a concept - is therefore the inevitable outcome of societies focusing on both information and
knowledge,

The learning society, however is both a confused and a confusing idea that requires some explication, but in this instance
the learning society is associated with social change, The more prevalent or profound the changes that occur in a society,
the greater the likelihood that it will be regarded as a learning society because its members have to learn in order to keep
abreast with structural and work-based changes, There is a clear sense that there are two different types of knowledge:
that necessary for social and cultural life, which once we have learned we can take for granted; and that which is work-
based in order to increase consumption or that which is necessary for the military defence of the people. Knowledge
necessary for social and cultural life often changes very slowly, a feature that is essential for social stability, whereas the
demands of capitalism require new knowledge so that the latter changes very rapidly, thereby demanding a greater
emphasis on learning. There must be both learning and non-learning in social living. To some extent, traditional society is
premised on non-learning because we expect things to remain the same, whereas modern societies change rapidly and so
learning societies have emerged.

What is true about the text?

(1) The idea of learning society is abstract (2) The idea of learning society is confused
(3) The idea of learning society is spatial (4} The idea of learning society is not identified
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[Question ID = 1295][Question Description = Q92_AE_SHAAN_20NOV21_51_Shift1]
1. 1

[Option ID = 5177]
2.2

[Option ID = 5178]
3.3

[Option ID = 5179]
4. 4

[Option ID = 5180]
3) Read the passage carefully and answer the following question :

The more rapidly knowledge changes the more the recipients have to learn and the more society emphasizes this need to
learn. The learning society - as a concept - is therefore the inevitable outcome of societies focusing on both information and
knowledge.

The learning society, however is both a confused and a confusing idea that requires some explication, but in this instance
the learning society is associated with social change. The more prevalent or profound the changes that occur in a society,
the greater the likelihood that it will be regarded as a learning society because its members have to learn in order to keep
abreast with structural and work-based changes. There is a clear sense that there are two different types of knowledge:
that necessary for social and cultural life, which once we have learned we can take for granted; and that which is work-
based in order to increase consumption or that which is necessary for the military defence of the people. Knowledge
necessary for social and cultural life often changes very slowly, a feature that is essential for social stability, whereas the
demands of capitalism require new knowledge so that the latter changes very rapidly, thereby demanding a greater
emphasis on learning. There must be both learning and non-learning in social living. To some extent, traditional society is
premised on non-learning because we expect things to remain the same, whereas modern societies change rapidly and so
learning societies have emerged.

The text points towards two different types of knowledge but the one requiring for continuation of social and cultural life is
a feature of

(1) Progressive society (2) Traditional society
(3) Learning society (4) Ancient society
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[Question ID = 1296][Question Description = Q93_AE_SHAAN_20NOV21_51_Shift1]
1.1

[Option ID = 5181]
2,2



www.prepp.in . re p p

Your Personal Exams Guide
[Option 1D = 5182]
3. 3
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[Option ID = 5184]
4) Read the passage carefully and answer the following question :

The more rapidly knowledge changes the more the recipients have to learn and the more society emphasizes this need to
learn. The learning society - as a concept - is therefore the inevitable outcome of societies focusing on both information and
knowledge,

The learning society, however is both a confused and a confusing idea that requires some explication, but in this instance
the learning society is associated with social change. The more prevalent or profound the changes that occur in a society,
the greater the likelihood that it will be regarded as a learning society because its members have to learn in order to keep
abreast with structural and work-based changes, There is a clear sense that there are two different types of knowledge:
that necessary for social and cultural life, which once we have learned we can take for granted; and that which is work-
based in order to increase consumption or that which is necessary for the military defence of the people. Knowledge
necessary for social and cultural life often changes very slowly, a feature that is essential for social stability, whereas the
demands of capitalism require new knowledge so that the latter changes very rapidly, thereby demanding a greater
emphasis on learning. There must be both learning and non-learning in social living. To some extent, traditional society is
premised on non-learning because we expect things to remain the same, whereas modern societies change rapidly and so
learning societies have emerged,

The text points toward a distiction among society’s is based on urge to

(1) Change (2) No change
(3) Changes without learning (4) Changes driven by learning
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[Question ID = 1297][Question Description = Q94_AE_SHAAN_20NOV21_51_Shift1]
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[Option ID = 5186]
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[Option ID = 5188)
5) Read the passage carefully and answer the following question :

The more rapidly knowledge changes the more the recipients have to learn and the more society emphasizes this need to
learn, The learning society - as a concept - is therefore the inevitable outcome of societies focusing on both information and
knowledge.

The learning society, however is both a confused and a confusing idea that requires some explication, but in this instance
the learning society is associated with social change. The more prevalent or profound the changes that occur in a society,
the greater the likelihood that it will be regarded as a learning society because its members have to learn in order to keep
abreast with structural and work-based changes. There is a clear sense that there are two different types of knowledge:
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that necessary for social and cultural life, which once we have learned we can take for granted; and that which is work-
based in order to increase consumption or that which is necessary for the military defence of the people. Knowledge
necessary for social and cultural life often changes very slowly, a feature that is essential for social stability, whereas the
demands of capitalism require new knowledge so that the latter changes very rapidly, thereby demanding a greater
emphasis on learning. There must be both learning and non-learning in social living. To some extent, traditional society is
premised on non-learning because we expect things to remain the same, whereas modern societies change rapidly and so
learning societies have emerged,

The text points to a set of knowledge which is not taken for granted is

(A) That which were structuring long back (B) That which enlightens the people
(C) That which is work based (D) That which necessitates continuation of life

Choose the most appropriate answer from the options given below :

(1) (A), (B) and (C)  (2) (B), (C} and (D)
(3) (A), (B)and (D)  (4) (A), (C} and (D)
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[Option ID = 5189]
2. 2

[Option ID = 5190]
3.3

[Option ID = 5191]
4, 4

[Option ID = 5192]

Topic:- 46AdultEdu_C
1) Read the passage carefully and answer the following question :

After the national Adult Education programme and the Rural functional literacy programme, the India ‘Adult Education’
programme tended to degenerate into a ‘mere literacy’ programme. It entered the phase of hastily-planned and poorly-
executed phase of National Literacy Mission and Total literacy Campaigns based on inappropriate high literacy districts model
and unsuccessfully imposed on the low literacy districts in India.

A post-independence view of the progress of literacy programmes in India appears to indicate that it has gone through
several planning “hesitations, rethinks, shift in emphasis, and general management and technocratic failure”. The country
mounted several literacy and adult education programmes with varying emphasis in terms of goals and populations; it also
created in the process a set of technical resource support institutions that received varying levels of trust and confidence of
the authorities at different points of time,

The universities and colleges took to literacy and adult education largely because “Education of the people” offered them
an opportunity for one kind of “Extension” activity,
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These institutions expressed sharp disagreement with the programme thrust of the National Literacy Mission by advocating
an Area Development Approach to concurrently establish both Adult Education centres and each one, Teach one
programme. Apart from literacy and adult education, these institutions propagated a more development-oriented
framework by introducing population education, legal literacy, parental education for better management of elementary
education, continuing education for senior citizens, environmental education and science for the people programmes.

‘Mere literacy’ in the text as referred the authors means

(1) Exclussion of literary from Adult Education (2) Renaming only the programme
(3) Reocrienting the emphasis (4) Reenerging the Adult Education
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[Question ID = 1299][Question Description = Q96_AE_SHAAN_20NOQV21_51_Shift1]
i

[Option ID = 5193]
7.2

[Option ID = 5194]
3. 3

[Option ID = 5195]
4, 4

[Option ID = 5196]

2) Read the passage carefully and answer the question following :

After the national Adult Education programme and the Rural functional literacy programme, the India ‘Adult Education’
programme tended to degenerate into a ‘mere literacy’ programme. It entered the phase of hastily-planned and poorly-
executed phase of National Literacy Mission and Total literacy Campaigns based on inappropriate high literacy districts model
and unsuccessfully imposed on the low literacy districts in India.

A post-independence view of the progress of literacy programmes in India appears to indicate that it has gone through
several planning “hesitations, rethinks, shift in emphasis, and general management and technocratic failure”. The country
mounted several literacy and adult education programmes with varying emphasis in terms of goals and populations; it also
created in the process a set of technical resource suppeort institutions that received varying levels of trust and confidence of
the authorities at different points of time,

The universities and colleges took to literacy and adult education largely because “Education of the people” offered them
an opportunity for one kind of “Extension™ activity.

These institutions expressed sharp disagreement with the programme thrust of the National Literacy Mission by advocating
an Area Development Approach to concurrently establish both Adult Education centres and each one, Teach one
programme. Apart from literacy and adult education, these institutions propagated a more development-oriented
framework by introducing population education, legal literacy, parental education for better management of elementary
education, continuing education for senior citizens, environmental education and science for the people programmes.

Author is indicating that there were some disagreement of universities with NLM programmes in terms of

(1) Approach (2) Programme
(3) Participation (4) Exclusion
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[Question ID = 1300][Question Description = Q97_AE_SHAAN_20NOV21_S1_Shift1]
1. 1

[Option ID = 5197]
2. 2

[Option ID = 5198]
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[Option ID = 5199]
4, 4

[Option ID = 5200]

3) Read the passage carefully and answer the question following :

After the national Adult Education programme and the Rural functional literacy programme, the India ‘Adult Education’
programme tended to degenerate into a ‘mere literacy’ programme. It entered the phase of hastily-planned and poorly-
executed phase of National Literacy Mission and Total literacy Campaigns based on inappropriate high literacy districts model
and unsuccessfully imposed on the low literacy districts in India.

A post-independence view of the progress of literacy programmes in India appears to indicate that it has gone through
several planning “hesitations, rethinks, shift in emphasis, and general management and technocratic failure”. The country
mounted several literacy and adult education programmes with varying emphasis in terms of goals and populations; it also
created in the process a set of technical resource support institutions that received varying levels of trust and confidence of
the authorities at different points of time,

The universities and colleges took to literacy and adult education largely because “Education of the people” offered them
an opportunity for one kind of “Extension” activity.

These institutions expressed sharp disagreement with the programme thrust of the National Literacy Mission by advocating
an Area Development Approach to concurrently establish both Adult Education centres and each one, Teach one
programme. Apart from literacy and adult education, these institutions propagated a more development-oriented
framework by introducing population education, legal literacy, parental education for better management of elementary
education, continuing education for senior citizens, environmental education and science for the people programmes.

Author is indicating of transition of NAEP to other programme was :

(1) An administrative one (2) A continuation one
(3} An improvement (4) A dilution of the programmer
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[Question ID = 1301][Question Description = Q98_AE_SHAAN_20NOV21_51_Shift1]
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[Option ID = 5201]
2. 2
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[Option ID = 5204]
4) Read the passage carefully and answer the question following :

After the national Adult Education programme and the Rural functional literacy programme, the India ‘Adult Education’
programme tended to degenerate into a ‘mere literacy’ programme, It entered the phase of hastily-planned and poorly-
executed phase of National Literacy Mission and Total literacy Campaigns based on inappropriate high literacy districts model
and unsuccessfully imposed on the low literacy districts in India,

A post-independence view of the progress of literacy programmes in India appears to indicate that it has gone through
several planning “hesitations, rethinks, shift in emphasis, and general management and technocratic failure”, The country
mounted several literacy and adult education programmes with varying emphasis in terms of goals and populations; it also
created in the process a set of technical resource support institutions that received varying levels of trust and confidence of
the authorities at different points of time,

The universities and colleges took to literacy and adult education largely because “Education of the people” offered them
an opportunity for one kind of “Extension™ activity.

These institutions expressed sharp disagreement with the programme thrust of the National Literacy Mission by advocating
an Area Development Approach to concurrently establish both Adult Education centres and each one, Teach one
programme, Apart from literacy and adult education, these institutions propagated a more development-oriented
framework by introducing population education, legal literacy, parental education for better management of elementary
education, continuing education for senior citizens, environmental education and science for the people programmes.

Universities and colleges went for literary and Adult Education because they considered it as:

(1) An innovative programme (2} An additional programme
(3) An extension programme  (4) A reinforcing programme

foreoiterlian sene @l amygde oen sz gratan fu =10 gea w1 o Sl

wrsdter e Mgy wkea e sypiivr goricas meenr ooy & aury sredla 9 e wrias o S aerm’ weien 3 5w 8 ser ag i seo mern e @ s
Oz iRy IR AL fera i gul s afcTe @ Sccarett # Geilbn iz gft e A ol azer # g@ur o sEn AR 33 gR @ Gow Jeren Gl e sereergde
TPL &2 7N SR wired W At SrRieA! St YeIfil B Tk e 3 2Em UT A6 Fad e @ [ a9, e 3 dag, Rafiraed, gafdod, § afada i s gEem e

o Resarawernsil @ sotes awoil A Prvo geor 8o 3t Bew Brow agel vb srorssmneil o e 59 ad aee wngie od Oice el welara ot orF e Sor 31 vu ofsar

@ Siarol el FATerel FAavelor el o o A ot ot e B i areer-aem w9 ur gitnniter 3 aeeET-aree 0T O sEte A Rrvars gy g

Rrafereed iz st 3 meen o gics Ben Tt Jes Fu A saie aoenen 3R sern Bt Bien J 55 e gor & fBwor sk on saee g s sa S A gics
Bian <) wd M aA, da A SrRia @1 me-wre Tl o & g S Reerd citew <6 awran S altc el BiemA @ orkew A 9ga %9 seeafa |1t 6t
HART v GG 1 o et s il o Aot O, wiept A, graiEne D oF mw gride ) Arn-fien o e afss eredeet & s Do, aeiaeerem e,
od StonH 1 BT Rt R W ofE W v afiny ReorslcdzE B A T gitaea Rear

Freafereneril wd Sidsit of Aezar wd gine dien ot safém auearn a=ifie a 33t ;

(1) v o oRfad Iasa &8 (2) oo afafys orRiaH Tae 9
(3) = RiTaR wRkoA J9sKT (4) wr gerdicr wriaga Jasr 4

[Question ID = 1302][Question Description = Q99_AE_SHAAN_20NOV21_51_Shift1]
1. 1

[Option ID = 5205]
2. 2

[Option ID = 5206]
3.3

[Opticn ID = 5207]
4, 4

[Option ID = 5208]

5) Read the passage carefully and answer the question following :
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After the national Adult Education programme and the Rural functional literacy programme, the India ‘Adult Education’
programme tended to degenerate into a ‘mere literacy’ programme, It entered the phase of hastily-planned and poorly-
executed phase of National Literacy Mission and Total literacy Campaigns based on inappropriate high literacy districts model
and unsuccessfully imposed on the low literacy districts in India.

A post-independence view of the progress of literacy programmes in India appears to indicate that it has gone through
several planning “hesitations, rethinks, shift in emphasis, and general management and technocratic failure”, The country
mounted several literacy and adult education programmes with varying emphasis in terms of goals and populations; it also
created in the process a set of technical resource support institutions that received varying levels of trust and confidence of
the authorities at different points of time,

The universities and colleges took to literacy and adult education largely because “Education of the people” offered them
an opportunity for one kind of “Extension™ activity.

These institutions expressed sharp disagreement with the programme thrust of the National Literacy Mission by advocating
an Area Development Approach to concurrently establish both Adult Education centres and each one, Teach one
programme, Apart from literacy and adult education, these institutions propagated a more development-oriented
framework by introducing population education, legal literacy, parental education for better management of elementary
education, continuing education for senior citizens, environmental education and science for the people programmes.

As per the author ‘Area development programme’ offered an approach which was

(1) Simplified (2) Multipronged
(3) Focussed (4) Intuitive

foraifeifian =rener wl tampiged® toer i geasndg [fe =10 geal @1 s S

R Oi;w Bren wREA dor sivT goricrs Aeeal SrRieH & e arwiR gios Bia TRiaH o "a1E S SR # ZH 8l /0 98 Jafi I A Bl @ dee
oz amenfyT i e R g gol s i & aecantt # Grbn ik gl o # oaiban azor # g o sEn iz 38 g & e e Gl o aswemgde
SN 57 e o=n Wred 3t angrec wrRinggil Ot geifer WY sandsEe efte 31 SEre U A Ada B 2 B aa, deen # dug, Raiened, gefdad, 3§ aferder iz amr geer we

o R arasersil @ sotes awoil A Prvo ger 89 3t Bew Brow agel vb srordsmnel o e 59 ad aee Jgie od Oice el welora ot orF e Sor 31 vu ofsar

@ Siarol el FATerel Aavelor el o o A ot ot e B i areer-aem J9 ur gitnniter 3 aeeET-aree w0E @ sEte 1 Rrvars gy g

Rrafereed iz st 3 meen o gics Ben Tt Jes Fu A saie e 57 sern Bt Bien J 552 v gor &' fwor sl on saee g s sa S A gics
fnen w5 vl i ae, fa ae’ okt @ Ana-any =it aeer & g gy Rore st Bt e wxi aftca meran fiem o oricg & g w5t awsak &
Frgre vd Gie gy o srenar s51 siverall A sersisay Beaw, wrmell weean, grefire B o A gaem By sovr-Ben 6 Bien afyss sirafyest B wom fbign, wafasem Bien,
od St 1 BT Rt R W ofF W v afiny Reorslcdz ©Aaw e gitaea Rear

o & AR "oy et afier” ues Y afie S d S
(1) zreclimm 8 (2) agarenaft 3
(3) BSRa & (4) siv:gsiea® &

[Question ID = 1303][Question Description = Q100_AE_SHAAN_20NMOV21_51_5Shift1]
1. 1

[Option ID = 5209]
2. 2

[Option ID = 5210]
3.3

[Option ID = 5211]
4. 4

[Option ID = 5212]

Topic:- General Paper_Set1_A

1) Consider the following table that shows the percentage (%) distribution of workforce of India
and ratio of male to female workforce of India in different employment sectors during a given
vear. Total workforce 1n all the sectors put together 1s 80 lakhs. Based on the data contained

in the table, answer the question :

Sector-wise Distmbution of Workforce of India

Employment Sector Workforce of India
Percentage (%) Ratio of Male to Female
Distribution M : F)
Service (SE) 15% 37
Sales (SA) 12% 5:8
Construction and Maintenance (M) 9% brd
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Professional (PR) 18% 517
Management (MA) 21% 3:4
Production and Transport (PT) 19% B3
Others (OT) 6% 3:68

freferfiaa arform w e Hift fem o @ g o9 |3 SR = foafhw ot 9 wwa & Fesw # sfaea
(%) o qon ye9-AfEen FEEe W qmE T 2| aei @l % P FEed i e 80 9| 2|
ATt ° T8 T STS] % STER W I¥T o Ia i)

Td % s $1 & foawor
TR 57 & I < Frfere
Sicer (%) T | geu-afeen sguw@ (3 A )
T (TH §) 15% 3:2
ed (TE T) 12% 5:3
Fmtor 3 e (di ) 9% 5:4
e (i 2TR) 18% 5:7
weuA (T U) 21% 3:4
Ieures 3R ufiaes (4 ) 19% B:B
31 (a1 &) 6% 3:5

What is the average number of male workforce in all the sectors put together? (rounded-off to two decimal places)
(1) 6.39 lakhs (2) 4.69 lakhs
(3) 5.96 lakhs (4) 7.48 lakhs

qeft &=t = et 369 SEEe 1 sitea wear 991 27 (S9med % 3 o) a)

(1)  6.35 @@ (2) 4.69 @@

(3)  5.96 TG 4) 7.48 9@

[Question ID = 2007][Question Description = Q01_GP_20NOV_51_SHAAN]
1 [Option ID = 8025]
2 [Option ID = 8026]
3 [Option ID = 8027]
4 [Option ID = 8028]

1.
P
3.
4,
2) Consider the following table that shows the percentage (%) distribution of workforce of India

and ratio of male to female workforce of India in different employment sectors during a given

vear. Total workforce in all the sectors put together is 80 lakhs. Based on the data contained

in the table, answer the question :

Sector-wise Distrbution of Workforce of India

Employment Sector Workforce of India
Percentage (%) Ratio of Male to Female
Distribution M : F)
Service (SE) 15% Ju
Sales (SA) 12% Han
Construction and Maintenance (M) 9% 5:4
Professional (PR) 18% 5:7
Management (MA) 21% 3:4
Production and Transport (PT) 19% 543
Others (OT) 6% 3:68

Frefafan ofeem W fimem it fed oF @ ge 99 3 o fafaw &m0 3 wra F wesa = e
(%) T o yEo-afEen $rme orua @i T 2wt &Sl % P FEww 6 e 80 9| 2
At # foT 7T ATRS1 % SMUR W WA o SR A
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TR 57 & T 1 Frderd
Sicer (%) T | geu-Afeen sguw@ (3 A )
Ta1 (79 3) 15% 3:2
Hed (E 1) 12% 5:3
Fomtor 337 orRar (i ) 9% 5:4
e (W 2TR) 18% B
TeIe (T U) 21% 3:4
IeureR 3R ufias (4 2 19% et
319 (=1 ) 6% 3:b

The number of female workforce in SE and PR sectors put together is what percent of the number of male workforce in CM
sector?

(1) 330% (2) 318%

(3) 320% (4) 80%

Ty § ot IR & # i wiEen wREe o gen d &y | $rEka ye weed i aed w5
fereem wiferema 27

(1) 330% (2) 318%
(3) 320% 4y 80%

[Question ID = 2008][Question Description = Q02_GP_20NOV_51_SHAAN]
1. 1 [Option ID = 8029]
2, 2 [Option ID = 8030]
3, 3 [Option ID = 8031]
4. 4 [Option ID = 8032]

3) Consider the following table that shows the percentage (%) distribution of workforce of India
and ratio of male to female workforce of India in different employment sectors during a given
vear. Total workforce in all the sectors put together is 80 lakhs. Based on the data contained

in the table, answer the question :

Sector-wise Distmbution of Workforce of India

Employment Sector Workforce of India
Percentage (%) Ratio of Male to Female
Distribution M : F)
Service (SE) 15% Fev 2
Sales (SA) 12% 5:3
Construction and Maintenance (M) 9% 5:4
Professional (PR) 18% 5:7
Management (MA) 21% 3:4
Production and Transport (PT) 19% 53
Others (OT) 6% 3:68

Frefafan ofeem w e it few o 7@ ge 99 3 o # fafaw &m0 3 wra F wesa =@ e
(%) o a1 Teu-afEen FEEe oum g T 2wl @l % P wEed B e 80 9™ 2|
AfeTT ° 12U T8 STS] % STTER W I¥T o Ia% i)

YA = SRS o ey fermn
TR 57 & R T e
o (%) o | gea-afgen oo (g ° )
a1 (7@ 3) 15% 32
ew (TE T) 12% 5:83
Fmtor 23R erRar (i ) 9% 5:4
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AETe (W 2TR) 18% 5:7
wegA (T T) 21% 3:4
IeureR IR ufiae (4 2) 19% bsB
o= (a1t &) 6% $:5
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The number of male workforce in SA and MA sectors put together is approximately what percent of the total number of

workforce in PT sector?
(1) 82% (2) 87%
(3) 89% (4) 85%

TH U 3R TN T &9 § HrEd §50 BEEd H Fd Gen 6 f &% § e SEed o fe ST F aTET

ToraaT widwa 27
(1) 82%
(3 89%

2 87%
4) 85%

[Question ID = 2009][Question Description = Q03_GP_20NOV_51_SHAAN]

1. 1 [Option ID = 8033]
2. 2 [Option ID = 8034]
3. 3 [Option ID = 8035]
4. 4 [Option ID = 8036

4) Consider the following table that shows the percentage (%) distribution of workforce of India
and ratio of male to female workforce of India in different employment sectors during a given
vear. Total workforce 1n all the sectors put together 1s 80 lakhs. Based on the data contained

in the table, answer the question :

Sector-wise Distribution of Workforce of India

Employment Sector Workforce of India
Percentage (%) Ratio of Male to Female
Distribution M: F)
Service (SE) 15% 3:2
Sales (SA) 12% b:3
Construction and Maintenance (M) 0% biid
Professional (PR) 18% 61T
Management (MA) 21% 3:4
Production and Transport (PT) 19% 538
Others (OT) 6% Jib

Trefefign @i w faem fifie e o fed ge ot 3 tom o ffhs gat 4 awa 6 weise = i
(%) T @ gey-ufgen wESd U gmiE T g W & % He hrEse w80 @ng 2|
arfersst o 138 U SThsi % IER 9T 9 % I 4]

TG % FaEe F1 dFar &
TR, oh1 &5 ARG o1
gfcrr (%) Fereron | gea-uifgem sgma (307 )
Ha (Td %) 15% 3:2
Tow (T 1) 12% 5:3
fmtor 3fit smeawr (ot ) 9% 5:4
wrbeEe (i 3TR) 18% 517
oA (T ) 21% 3:4
IeaTEa 1R uftEsa (i ) 19% K
3= (31 &) 6% 8:5
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The difference in the number of female workforce in SA and MA sectors put together and the number of female workforce
in PT sector is :
(1) 5.1 lakhs (2) 7.5 lakhs
(3) 5.7 lakhs (4) 13.2 lakhs

TH T SR T T &} FEE Afgen wEEA $i Fd qea R 6 # a7 7 Feig aften seisa f aem 5
ot fraar 27

1) 5.1 T @ 7.5 @

(3) 5.7 <T@ (4) 13.2 9@

[Question ID = 2010][Question Description = Q04_GP_20NOV_51_SHAAN]
1. 1 [Option ID = 8037]
2. 2 [Option ID = 8038]
3. 3 [Option ID = 8039]
4. 4 [Option ID = 8040]

9) Consider the following table that shows the percentage (%) distribution of workforce of India
and ratio of male to female workforce of India in different employment sectors during a given
vear. Total workforce 1n all the sectors put together 1s 80 lakhs. Based on the data contained

in the table, answer the question :

Sector-wise Distribution of Workforce of India

Employment Sector Workforce of India
Percentage (%) Ratio of Male to Female
Distribution M: F)
Service (SE) 15% by o
Sales (SA) 12% b:3
Construction and Maintenance (M) 0% 5:4
Professional (PR) 18% b
Management (MA) 21% 3:4
Production and Transport (PT) 19% 5:3
Others (OT) 6% 3:6

Trefafian @i w faam fifve o o fed ge ot = tsm o fifhs gat 4 awa 6 weise = i
(%) Torermr qon gey-nfgen FeEled swa qutan T g1 At @9 % Fa wEEd B e 80 9@ 2|
qrferss W U 77U 3ehgl o YR W YT % AL Sy

TG % FAEe F1 AFar G
TSI, oh1 &5 HIq = e
gierer (%) Torqwr | gev-nfeenm sgo@ (g0 )
Ha1 (T %) 15% 3:2
Tow (T T) 12% 58
fmtor 3fit smeawr (ot @) 9% 6:4
arbere (i 31m) 18% 5:7
oA (T U) 21% 3:4
IeaTEa iR uftEsa (i ) 19% 5:3
37 (3 &) 6% 3:5

What is the ratio of the number of female workforce in CM sector compared to the number of male workforce in PR and OT
sectors put together?

(1)17:39 (2)16: 37

(3)16 : 35 (4) 16 : 39

ot 9 &7 ¥ Fria afien FEEa H gen R 9@ AR @ T A ° weRa 799 FEed i e Qe o

SIS o 27

1y 17« 20 N 1R« 27
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= i s AT A 2 — CEELE LTI

(3 16:35 @4 16:39

[Question ID = 2011][Question Description = Q05_GP_20N0OV_S1_SHAAN]
1. 1 [Option ID = 8041]
2. 2 [Option ID = 8042]
3. 3 [Option ID = 8043]
4, 4 [Option ID = 8044]

Topic:- General Paper_Set1_B

1) In which level of teaching, the main focus is laid on capturing and systematic presentation of ideas and information?
(1) Memory level (2) Understanding level
(3) Reflective level (4) Autonomous development level

AL % Fpu T A g AR AR T gern i TeA FE TR 36 Saredd RGO W Bl 8 7

(1) gl =R (2) =T T
3) HE®X (4) WP T T

[Question ID = 2012][Question Description = Q06_GP_20NOV_51_SHAAN]
1.1

[Option ID = 8045]
2. 2

[Option ID = 8046]
3. 3

[Option 1D = 3047)
4, 4

[Option ID = 8048]

2) The following is a list of some basic teaching competencies identified through various researches on teaching. Which
among of them fall in the domain of behavioural competencies?
(A} Self efficacy

(B) Planning

(C) Locus of control

(D) Communicating

(E) Flexibility

Choose the correct answer from the options given below ;

(1) (A) and (B)

(2) (B) and (C)

(3) (D) and (E)

(4) (B) and (D)

frafatean 3= gfef s amarett 6t g2t 2 G sremmm gedt fafim wigl = meam @ fafRa e
T 21 9% 9 S SEER oaE i auard £ 39 @ 1 o e sHeER AT % ot ofdt 87

(A)  omeR-aHal (Ame)

®B) FrEmE

(C)  Fa=w = wfeafq
D)

(B) T

= fou o e § o e S w1 =99 Fif

1) (A FW®B)
@ (B RO
3) (D) 3R (E)
@  (B)RD)
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[Question ID = 2013][Question Description = Q07_GP_20NOV_51_SHAAN]
154

[Option ID = 8049]
2. 2

[Option ID = 8050]
i

[Option ID = 8051]
4. 4

[Option ID = 8052)

3) Match List | with List Il

. List | gives the methods of teaching in Institutions of higher learning while List 1l provides the techniques of increasing
effectiveness of the method.

List 1 Listll

Methods of teaching Techniques for increasing effectiveness

(A) Face to face interactive method (I} Using Swayam and Moocs

(B} Open and distance learning method (I} Programmed instructional packages
(€) Individualized method of teaching (lll) Modular instructional material

(D) Online methods of teaching (IV) Reflective questions coupled with discussion
Choose the correct answer from the option given below :

(1) (A)-(1), (B)-(Il}, (C)-(ll1), (D)-(IV)

(2) (A)-(1), (B)-(IV), (C)-(1), (D)-(ll)

(3) (A)-(IV), (B)-(l11), (C)-(1), (D)-(I)

(4) (A)-(I1), (B)-(1), (C)-(IV), (D)-(ll1)

A1 % @ gf-11 =1 foemm $if) g=hi-1 9 s siftrm awnet © fhaw 6 Bl 6 o €, o=k gt
11 7 siferms faftet < waresfiea s 6 g & 78 £

ft-I =11

Fregor <t fatern UgEEiear I %l ahlh
(A) STIH-TUR A siatEers Bl O o o e A
(B) W i gl arftem fafy (ID) ARERie e Y
(C) Toreror it Jafws fafa (I1I) WisPeR FTEAHF arft
(D) Toreor it e fafy (IV) witsal & my-wy fomels weA
9 fov 7o fawedl 9 © w8 ST W 99T e

1) &), (B)-AD), (C)-AID, (D)-AV)
@) (A)-dID, B)-AV), (C)-(), (D)-(ID)
(3 A-av), ®)-d1D), (€)-dn, (D)-D)
@ (@-AD. B)-D. (C)-AV), (D)-AID

[Question ID = 2014][Question Description = Q08_GP_20NOV_51_SHAAN]
1. 1 [Optien ID = 8053]
2. 2 [Option ID = 8054]
3. 3 [Optien ID = 8055]
4. 4 [Option ID = 8056]

4) Given below are two statements

Statement (1) : Achievement and aptitude tests are designed to assess the upper limits of the examinees’ knowledge and
abilities.

Statement (1) : Objective personality tests and projective personality tests are designed to measure the typical behaviour
and characteristics of examinees.

In the light of the above statements, choose the most appropriate answer from the options given below:

(1) Both Statement (1) and Statement (lI) are correct

(2) Both Statement (1) and Statement (ll) are incorrect

(3) Statement (1) is correct but Statement (l1) is incorrect

(4) Statement (1) is incorrect but Statement (ll) is correct
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=97 (I) : IR AR ATHEHEC S0& = TUSNEHAT & JH 3R 3901 &9d1 1 SO0 T
T e % ZeTa AR T S 2

% (I0) : Fegig =afeea wlam i nedm =i aieo st & fafie =mer 3 o =
A % A 4 qIR Ry W 3

SUUH HF F A 1, 4 fu o formed 4 9 w98 SUgw ST W =99 St

1) =W @ IR 1D 3 wE 2
) =W @) 3R 1) 3 e E|
(3)  mw (D) EE 2, S T (1) o R

@)  HE () e 2, S F9T (00 w8t 2

[Question ID = 2015][Question Description = Q09_GP_20NOV_51_SHAAN]
1. 1 [Option ID = 8057]
2. 2 [Optien ID = 8058]
3. 3 [Optien ID = 8059]
4. 4 [Option ID = 8060]

5) Given below are two statements : One is labelled as Assertion (A) and the other is labelled as Reason (R}).

Assertion {(A) : The purpose underlying modern and ICT based support system in teaching is to optimise learning outcomes.
Reasons (R} : An effective instructional support system has to be linked with enhancement of learning conditions.

In the light of the above statements, choose the correct answer from the options given below

(1) Both (A) and (R) are true and (R) is the correct explanation of (A)

(2) Both (A) and (R) are true but (R) is NOT the correct explanation of (A)

(3) (A) is true but (R) is false

(4) (A) is false but (R} is true

Hio g wum g w € ©F sifuwYA (Assertion A) % w9 7 faflga @ @ g@0 3w FW (Reason R)
ERR

AT (A) foreqor % analer i g i & seni wEEar yonedt @ FiEa w@ies siftem gfommi
=1 AT ST B

%1 (R) fordft worrel) fneror wemar wonedt =1 wiftpm afifufaat 9 gam % wy g3 S S
EHiEd

I FHYT * oAF 1, T e e et § | get S W 999 i

(1) (A R (R) g1 Tex 3 3 R), (A) 1 g&i =arean 2|

2) (A ¥ (R)ZF TA &, IR (R), (A) F w8 ==me T 2

(3) (A @ed 2, aFF (R) wme 2

(4 (A) 3w\ 2, A (R) 7 2)
[Question ID = 2016][Question Description = Q10_GP_20NOV_51_SHAAN]
1. 1 [Option ID = 8061]
2. 2 [Option ID = 8062]

3. 3 [Option ID = 8063]
4, 4 [Option ID = 8064]

6) Which type of research encourages participant’s perspective?
(1) Ethnographic method (2) Historical research
(3) Exegetic research (4) Experimental research

fopa wepr % e o ufgarli-uldss =6 Deatza e S 27

(1)  Jeda oy (2) tfaeitaes My
(3)  SATATHR MY (4) TS Wy

[Question ID = 2017][Question Description = Q11_GP_20NOV_51_SHAAN]
1. 1 [Option ID = 8065]
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7) Hypothesis testing which results into either affirmation or disaffirmation is the explicit concern in which methods of

research?

(A) Descriptive method
(B) Experimental method
(C) Ex Post Facto method
(D) Historical method

(E) Exegetical method
Choose the correct answer from the options given below :
(1) (A) and (B)

(2) (B) and (C)

(3) () and (D)

(4) (D) and (E)

uitsreu afemr e aftorfe = ot afugf® o omfe % = 4 26l 2, o 6 F=fafea 9 @ f faften

] T LR &7

(A) faarones &

(By  wHiTen=s fafy
(C) e fafy
D) tieefe ffy

(E) ==maEmesss iy

F= fou o fawedt § o OF W w1 9= ST

) (@B
@ (B3RO
3 (O RD)
@ (D) R (E)

[Question ID = 2018][Question Description = Q12_GP_20NOV_51_SHAAN]
1. 1 [Optien ID = 8069]
2. 2 [Option ID = 8070]
3. 3 [Optien ID = 8071]
4. 4 [Option ID = 8072]

8) Match List | with List Il, List | gives steps of research while List || provides techniques used,
List 1  List Il Steps of research  Techniques used

(A) Problem formulation (l) Tabular and graphical representation of data

(B} Hypothesis making (ll) Drawing a subset from a larger set

(C) Selecting a sampling procedure (lll) Raising pivotal question in a field of enquiry
(D) Data Analysis (IV) Setting up relationship among variables of research

Choose the correct answer from the option given below :

(1) (A)-(ll1}, (B)-(I¥), (C)-(I), (D)-(I)

(2) (A)-(1), (B)-(I1}, (C)-(IlN), (D)-(1V)

(3) (A)-(I), (B)-(1N), (C)-(1), (D)-(IV)

(4) (A)-(1), (B)-(1), (C)-(IN), (D)-(1V)

-1 % o ge-11 =1 e fifs) g1 8§ my % =0 uea 2, St gefl-I1H 3793 gR1 Y a1®

Gin! Feft-1I1

T ok = 10 L | A I E 1 (o G E e B
(A)  wwEn iy () s o1 WRfEs 39 AT T
(B) ufterewn fmfo D) U goTR U2 U Tl H

(C) wia=em wisean =1 == (III) <1 6 &3 ¥ e 9vA 33
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(D) ARG fagewor (IV) w119 h = = s gae w7 #

F2 fou o faweal § U UE SR 1 99 i

1)  (A)-dID. B)-AV), (C)-aD). (D)-(D)
2 (A-D. (B)-AD), (C)-AID, (D)-AV)
(3)  (A-dD. B)-I), (C)-D),. (D)-AV)
(¢  (A-dID. B)-@). (O)-AD,. (D)-AV)

[Question ID = 2019][Question Description = Q13_GP_20NOV_51_SHAAN]
1. 1 [Optien ID = 8073]
2. 2 [Optien ID = 8074]
3. 3 [Optien ID = 8075]
4. 4 [Option ID = 8076]

9) Given below are two statements

Statement (1) : There is no difference between format and styles of writing and referencing in a thesis and a research
article,

Statement () : Research ethics and its observance is mandatory for all researches.

In the light of the above statements, choose the correct answer from the options given below:

(1) Both Statement (l) and Statement (ll) are true

(2) Both Statement (l) and Statement (ll) are false

(3) Statement (1) is true but Statement (I} is false

(4) Statement (1} is false but Statement (lI) is true

= g o fir e 3

w7 () : UF TH-TEY T WE-TF § 9Ed oK geHT % taed ot fef % i =g ot 78
gl 2

w97 (ID) : iy wedt A ok s sgaen wft mdl F o a1

ITUH HA * aTens 8, f= B el § 8 aft s w9 il

(1)  =yE @) s JD 241 T 3
2) o (O 3R AD B oEeE B

3 =AD" B, dfera e (1) 9ed 2

(@) A (D) 5= B, dfes w10 F9 2

[Question ID = 2020][Question Description = Q14_GP_20NOV_51_SHAAN]
1. 1 [Option ID = 8077]
2. 2 [Option ID = 8078)
3, 3 [Option ID = 8079]
4, 4 [Option ID = 8080]

10) Given below are two statements : One is labelled as Assertion (A) and the other is labelled as Reason (R).
Assertion (A) : A research hypothesis (H1), has to be tested with the help of a Null hypothesis called (HO).
Reasons (R) : Tenability of research hypothesis (H1) cannot be directly affirmed.

In the light of the above statements, choose the most appropriate answer from the options given below

(1) Both (A) and (R) are correct and (R) is the correct explanation of (A)

(2) Both (A) and (R) are correct but (R) is NOT the correct explanation of (A)

(3) (A) is correct but (R) is not correct

(4) {(A) is not correct but (R) is correct

Hi= 2 w0 g T £ ;o sifimuR (Assertion A) % w0 # foflaw @ @ 3T 39% T (Reason R)
FEaH

~afiTaReTT FAN - aft e ohrssum (O =37 Sorsrim vhesoat (1) 3 et © uhierm Bem o
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i X AT T N = L = RUESTIA

arimy
w0 (R) : i ufmwerr (Hy) i ahanta 7 sifigf @ig s & 78 F s g 2

SUIRE YA H T 4, T o T feedt 4 9 aew Sugw S W 99 i

1) (A) IR (R) IF TG 2 3R R). (A) A T =" 2

(2) (&) R) A T 3, 9fF (R), (A) F g s T R
@ (A wE 2, afF ®) T8 T R

@ (A= TE 2, @ (R) " R

[Question ID = 2021][Question Description = Q15_GP_20NOV_51_SHAAN]
1. 1 [Option ID = 8081]
2. 2 [Option ID = 8082]
3. 3 [Optien ID = 8083]
4. 4 [Option ID = 8084]

11) Every year Press Council of India celebrates the National Press-Day on :
(1) January 30 (2) May 30
(3) October 15 (4) November 15

WLt YW i T = ugE UE feew feafafaa 8 @ few 6w s 20

(1) 30 sad (2) 30W
(3) 15 3RS (4) 15 TR

[Question ID = 2022][Question Description = Q16_GP_20NOV_51_SHAAN]
1. 1 [Option ID = 8085]
2, 2 [Option ID = 8086)
3. 3 [Option ID = 8087]
4. 4 [Option ID = 8088]

12) Which Newspaper logo bears ‘‘Let Truth prevail™’?
(1) The Statesman (2) Times of India
(3) The Tribune (4) The Hindu

form TmTERTS 1 TR (ST "Let truth prevail” ®7

1 REemim (2) <ATTH HTF gsA
(3 RiFm 4) 3T

[Question ID = 2023][Question Description = Q17_GP_20NOV_S1_SHAAN]
1. 1 [Option ID = 8089
2. 2 [Option ID = 80%0]
3. 3 [Option ID = 8091]
4. 4 [Option ID = 8092]

13) Given below are two statements : One is labelled as Assertion (A) and the other is labelled as Reason (R).

prepp
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Assertion (A) : The more performative broadcast is also more cohesive and popular, but owing to new media its effect is

decreasing.
Reasons (R} : Internet is tending to eclipse broadcast media.

In the light of the above statements, choose the most appropriate answer from the options given below

(1) Both (A) and (R) are correct and (R) is the correct explanation of (A)

(2) Both (A) and (R) are correct but (R) is NOT the correct explanation of (A)
(3) (A) is correct but (R) is not correct

(4) {(A) is not correct but (R) is correct

= g ye fau U § : us sifem (Assertianﬂ)%ﬂﬁ%ﬁﬁ%ﬁ@pﬂ?ﬂ%w(ReasonR)

FBYH ;.

a1 (A) | aAftrs wan (sigsre) s wfies gatweie S st g 2, v A3 Mg

£ 797z T SAF UNF °Z T 2

FRO (R) FER TERY (Fiswne) Hitga W asei 2F i # TR W=E 2

S HYA F e H, T G T fFmedt 0 9 @ Sugt SR 9 Hif

FERS o . . T LA ¢ A — ean N [y A
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1) LALY AT L) Q170 Snd o 911 (E), L8L) 1l Sl <Si1EH] ol

@) (AR @) A TR 3, B (R), Q) F w8 s T 2
(3) (A HE g, «fe (R) Tdl 49 21
(4) (A w7 2, |@fF (R) 9981 B

[Question ID = 2024][Question Description = Q18_GP_20NOV_S$1_SHAAN]
1. 1 [Option ID = 8093]
2. 2 [Option ID = 8094]
3. 3 [Option ID = 8095]
4. 4 [Option ID = 8096]

14) For emerging field of mass communication researcher Paul Lazarsfeld proved to be seminal thinker and researcher in
what way?

(A) For exploring the potential of Social Science methods.

(B) For providing training with a high level of entrepreneurial skill.
(C) For raising the standard of American Education System,

(D) For making assumptions that media have limited direct effect.
Choose the most appropriate answer from the options given below :
(1} (A) and (B) only

(2) (B) and (C) only

(3) (C) and (D) only

(4) (A) and (D) only

FIOER % SU & Bg MUFHA Wel Aehies 8 TR ¥ TF TR fGas 3 msral amfea ge?

(A) o fagm fafE i s g w53 % R
B = @i safim Five % @y e 37 %
(C) It =1 Rran woned = & weH * o)

(D) =g uwen s9H % foe T difga = weay v difim g 21

et faw T foeRei § W e 39gE I B 95 i
() =3 (4) 3R (B)
(2)  #FFE (B) Al (C)
(3) e (C) a1t (D)

(4)  Fad (A) (D)

[Question ID = 2025][Question Description = Q19_GP_20NOV_S1_SHAAN]
1. 1 [Option ID = 8097
2. 2 [Option ID = 8098]
3. 3 [Option ID = 8099]
4. 4 [Option ID = 8100]

13) From the list given below, identify the Psychological barriers to communication
(A) Noise

(B) Invisibility

(C) Prejudice

(D) Disinterest

(E) Inattention

Choose the most appropriate answer from the options given below :
(1) {A), (B) and (C) only

(2) (B}, (C) and (D) only

(3) (C), (D) and (E) only

(4) (A), (C) and (D) only

F & el § A T B wd el W R B
A e
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(B)  AgEHM
©) TR
(D) ot

(E) &I = 9 g

= fou 7o fowewl § @ wE S %1 99a Fife

(1) == (A), (B) i (O)
2  FaA®). (©) (D)
3 %39 (C). (D) 3R ()
4 F (), (C) (D)

[Question ID = 2026][Question Description = Q20_GP_20N0OV_S1_SHAAN]
1. 1 [Option ID = 8101]
2. 2 [Option ID = 8102]
3. 3 [Option ID = 8103]
4. 4 [Option ID = 8104]

prepp

Your Personal Exams Guide

16) The average monthly expenditure of a family was Rs, 4,000/- for the first 3 months; Rs. 4,500/- for the next 4 months
and Rs. 5,000/- for the last 5 months of a year. If the total saving during the year was Rs. 5,000, find the average monthly

income of the family
(1) Rs, 3,000/- (2) Rs. 4,000/-
(3) Rs. 5,000/- (4) Rs. 6,000/

U T4 % SR U TRAR W o7Gd Wb 599 U9 3 WaAl § 4000 T, 3G I 4 "oHl § 4500 w9
R sl 5 w2E1 A 5000 wWA 97| 41 3w i % U Fo gHa 5000 wuH off A 3@ 9fEw H g
aTfters 31 ferat ofi 7

(1)  3000/- ¥ (2) 4000/- T

(3)  5000/- T (4) 6000/ T

[Question ID = 2027][Question Description = Q21_GP_20NOV_51_SHAAN]
1. 1 [Option ID = 8105]
2. 2 [Optien ID = 8106]
3. 3 [Optien ID = 8107]
4. 4 [Option ID = 8108]

17) Find the average of all prime numbers between 70 to 90
(1) 76.5  (2) 98.25
(3) 55.75 (4) 56.75

70 & 90 = sitg it g} ararew wemey W sitgd sad -

(1) 76.5 (2) 98.25
(3) 55.75 (4) BB.75

[Question ID = 2028][Question Description = Q22_GP_20M0V_S51_SHAAN]
1. 1 [Option ID = 8109]
2. 2 [Option ID = 8110]
3. 3 [Option ID = 8111]
4, 4 [Option ID = 8112]

18) By selling 33 litres of milk, one gains the selling price of 11 litres. Find the gain in percentage :
(1) 25% (2) 50%
(3) 70% (4) B0%

T ARG 33 WX 39 999 W 11 ofieX 3 % e gem % vt W aifSia wRan 21 wfowa §

qry .

(1) 25% (2) 50%
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(3) 70% (4) 80%

[Question ID = 2029][Question Description = Q23_GP_20NOV_S1_SHAAN]
1. 1 [Option ID = 8113]
2. 2 [Option ID = 8114]
3. 3 [Option ID = 8115]
4. 4 [Option ID = 8116]

19) If the cost price is 95% of the selling price, then what is the profit in percentage?
(1) 4.26%  {2) 5.26%
(3)5% (4) 7.2%

o7 Tl s o1 T ged Sue fosed ged w1 95% 2 At e A wfdran o 27

(1) 4.26% (2) 5.26%
(3) 5% (4 7.2%

[Question ID = 2030][Question Description = Q24_GP_20N0V_S51_SHAAN]
1. 1 [Option ID = 8117]
2. 2 [Option ID = 8118]
3. 3 [Option ID = 8119]
4, 4 [Option ID = 8120]
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20) If someone sells an item at a cost of Rs, 1,200/- with a loss of 25%, at what cost she/he should have sold it to get a

profit of 30%?
(1) Rs. 1,600/- (2) Rs. 2,000/-
(3) Rs, 2,080/- (4) Rs, 1,560/-

72 ig =afs et g =+t 25% ufewm F a1 @ 38 1200/~ ot § dwar & 9t 30% =1 @19 HAH K

fore =@ =w =g # e Fiwa | s= =i @

(1) 1600/~ v (2) 2000/- =
3  2080/- ¥® @) 1560/ &@

[Question ID = 2031][Question Description = Q25_GP_20NOV_51_SHAAN]
1 [Option ID = 8121]
2 [Option ID = 8122]
[Option ID = 8123]
]

1.
2.
3.3
4. 4 [Option ID = 8124

21) Which one of the following sources of knowledge (pramana) in classical Indian Philosophy is based on similarity of the

unobserved object with a known object?
(1) Arthapatti (2) Anumana
(3) Upamana (4) Unuplabdhi

TS WA quAard ®§ T = Ffrefafaa § @ wi-m g o 9% SRR 3 a%g % |y meEa )

ST 27
(1) ety (2) ogEE
(3) sTEE (4) Uy

[Question ID = 2032][Question Description = Q26_GP_20NOV_51_SHAAN]
1. 1 [Option ID = 8125]
2. 2 [Optien ID = 8126]
3. 3 [Option ID = 8127]
4. 4 [Option ID = 8128]

22) What is the correct sequence of steps in case of inference according to Indian Logic?
(A) Statement of similarity/applicability of the example to case in consideration {(upanaya)

(B) Statement of Reason (hetu)

(C) Affirmation of the thesis as proved (nigmana)

(D) Statement of thesis (Pratijfia)

(E) Giving an example of the underlying rule (udaharana)
Choose the correct answer from the options given below :
(1) (D), (E), (A}, (C), (B)

(2) (D), (C), (B), (A), (E)

(3) (D), (B), (E), (A), (C)

(4) (D), (E), (A}, (B), (C)
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I TohITRE o IR S & A | =0T 1 Gl 369 o 8 7

&)  fommd fava 9 semo it aaea/vEisTar 0 wE (3TE)
B)  HRO FFH ()

©  sifgamon i fagh % =0 A gy (Frem)

D)  iftemon w1 %o (wiow)

(E) Tifza Fram =1 samewr 3 (sEmeen)

Hr9 feu me fareal @ 9f W W 9= RN

1 D) E). A ), B

@ (D). (©). (B). (A). (E)

(3 (D). B (E). A O

@ D) E).A). B O
[Question ID = 2033][Question Description = Q27_GP_20NOV_51_SHAAN]
1. 1 [Optien ID = 8129]
2. 2 [Optien ID = 8130]

3. 3 [Option ID = 8131]
4. 4 [Option ID = 8132]

23) Which of the following schools of Classical Indian Philosophy reduce Sabda pramana
(verbal authority) to inference?
(A) Nayaya

(B)  Vaisesikas

(C)  Buddhists
(D) Mimamsa

(E) Carvaka/Lokayvata

Choose the correct answer from the options given below ;

(1) (B) and (C) only
(2) (B). (C) and (E) only
(3) (B) and (E) only
@  @. D) and (E) only

U YRAHE e -9 ALIEE W63 YA Wt ST IO A @ 7

A) ==

B) S

€ dig

(D)

(E) =&/ /amea

e faw mu faerei F ¥ T TR o A A

(1)  Faa (B) R (C)
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2  F4 (B). (C) 3R (E)

3 =9 (B) IR (E)

4 Fa9(A). (D) ¥ (E)

[Question ID = 2034][Question Description = Q28_GP_20N0OV_51_SHAAN]
1. 1 [Option ID = 8133]
2. 2 [Option ID = 8134]
3. 3 [Option ID = 8135]
4. 4 [Option ID = 8136]

24) Given below are two statements

Statement (l) : According to classical Indian Logic the psychological sequence also corresponds to the logical sequence,
Statement (1) : The logical structure represents not how we ought to infer, but how, as a matter of fact, we do infer.
In the light of the above statements, choose the correct answer from the options given below:

(1) Both Statement (l) and Statement (ll) are true

(2) Both Statement (1) and Statement (ll) are false

(3) Statement (I} is true but Statement (I} is false

(4) Statement (1} is false but Statement (lI} is true

= 3 Bue feg T 3 -

&= (1) A MR ahaTe  STAR T R daifhed 9 o Ta of 2T 2|

w99 (ID) ; aifes Gt 9g A Sardt & 76 =6 e TR @ SgaE e wiEe Sfeh aega: T8
s 2 7% 29 8 orwm o )

I W % oA §, A9 i mu et § € 98 sov w99 difvw

(1) = @) IR A0 & A B
2  HF @) R D) A7 I\ 7
(3) =y (@) 9cA 2, ateed e () 5199 2|

(4)  =u (1) 39T 2, wiE e (D) 909 2)

[Question ID = 2035][Question Description = Q29_GP_20NOV_51_SHAAN]
1. 1

[Option ID = 8137]
o

[Option ID = 8138)
S

[Option ID = 8139]
4. 4

[Option ID = 8140]

25) Match List | with List Il

List | List Il

Steps of Argument Propositions

(A) Affirmation of the thesis as proven (I} Wherever there is smoke, there is fire as in the kitchen
(B) Statement of reason (ll) There is fire on the hill

(C) Giving an example of underlying rule (lll) Therefore there is fire on the hill

(D) Statement of thesis to be established (IV) Becuase there is smoke

-1 % @y ghi-11 =1 fram fifsm)
-1 - 11
T % T T

(A)  stfireon = g % v F gfy @ el gl gl 2 Tw S gl @ dW Wi
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H|
(B) RO 1 HYA Al) UETE W T 2
(C) fifzg fam =1 samwr & A1) sEfae wRE = s 2|
(D) wnfud 1 SHare st = e AV) it 77t g3t 2

= R 7w Ted B @ 98 ST % T R

1) @)-@), B)-3I, (C)-AV). (D)-(1I)
@ @-AV). (B)-dAID), (CO)-(1). (D)-dI)
3  @-dID, B)-AV). (C)-(1). (D)-AD)
@)  A-dD), B)-O, (C)-dID). M)-1V)

[Question ID = 2036][Question Description = Q30_GP_20NOV_S51_SHAAN]
1. 1 [Option ID = 8141]
2. 2 [Option ID = 8142]
3. 3 [Optien ID = 8143]
4. 4 [Option ID = 8144]
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26) An IT Company has recently produced a new laptop model that uses less power, is smaller in size and weighs less than

previous laptop models.

The technology that has been used to accomplish this, is :
(1) Faster RAM  (2) Blu-Ray Drive

(3) Solid State Hard Drive (4) LCD Technology

wF oS 4 FA Y T 4§ U 1 Hise % Auen %1 Wi Ben 2 e e e f e et 2 9
Mt frzer Auei Aisal Y omET R § e o auE | = 2

oo 9 % o g gl = uae e e 27

(1) v (dm) W Q) =-tgrA
(3) wite =7 T 3Ed (4) = d D IFE

[Question ID = 2037][Question Description = Q31_GP_20NOV_51_SHAAN]
1, 1 [Option ID = 8145]
2. 2 [Option ID = 8146]
3. 3 [Option ID = 8147]
4. 4 [Option ID = 8148]

27) Given below are two statements : One is labelled as Assertion (A) and the other is labelled as Reason (R).

Assertion (A) : Every general-purpose computer must have an Operating System (0S) installed on it.
Reasons (R) : Man and Computer cannot communicate directly,

In the light of the above statements, choose the correct answer from the options given below
(1) Both (A) and (R) are true and (R) is the correct explanation of (A)

(2) Both (A) and (R) are true but (R) is NOT the correct explanation of (A)

(3) (A) is true but (R) is false

(4) (A) is false but (R} is true

= 2t = i e B . v aifymus {Assertion A) % Eﬁﬁ%f@ﬁ%?ﬁﬂ@ﬁﬁﬂ% O (Reason R)
% T H

FES (A) THF AW TESH P H U AT o snayas =9 ° weuifia g wiEm)
FNT (R) A 3R B e gR W A" § daig T8 o gehd |

I9AH U o SR o, 1 2T e el § O 98) Ie% @ 9 hifae

1) Q) IR R)IAT 7= £ R (R), (A) F Tt = 71

2 (AR ®) I T, A R). Q) F wd =men 7w 2
@ (A=A, aFF (R) 39 2|

@ (A T g, afF (R) T 2l

[Question ID = 2038][Question Description = Q32_GP_20M0V_S51_SHAAN]
| 1. 1 [Option ID = 8149]
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| 2. 2 [Option ID = 8150]
3. 3 [Option ID = 8151]
4. 4 [Option ID = 8152]

28) Identify the correct order of the following storage capacities ranked from largest to smallest capacity

(A) 1500 M Bytes

(B) 5 K Bytes

(C) 1 G Bytes

(D} 2 T Bytes

Choose the correct answer from the option given below :
(1) (D), (A}, (C), (B)

(2) (A), (D}, (C), (B)

(3) (A), (B), (C), (D)

(4) (D), (C), (A), (B)

gaU 91 U guh B Gual % FH § Fofaied WE Guaiet ® 98l %9 i ggeF i)

A) 1500 M Bytes

(B) 5 K Bytes
{C) 1 G Bytes

(D) T Bytes
= fog o ferreut 4 9wl s = w= Hifsw

1) (D) A){C). (B)
2 @), {D. ). B
3 @, 6B.0.0O
@ D), ©).A). (B

[Question ID = 2039][Question Description = Q33_GP_20NOV_51_SHAAN]
1. 1 [Optien ID = 8153]
2. 2 [Option ID = 8154]
3. 3 [Option ID = 8155]
4. 4 [Option ID = 8156]

29) Given below are two statements regarding a smartphone that has both Bluetooth and Wi-Fi technology :

Statement (1) : Wi-Fi has a shorter range than Bluetooth.
Statement (Il) : Wi-Fi can transmit data at a faster rate than Bluetooth,

In the light of the above statements, choose the correct answer from the options given below:

(1) Both Statement (l) and Statement (ll) are true
(2) Both Statement (1) and Statement (1) are false
(3) Statement (I} is true but Statement (Il) is false
(4) Statement (1) is false but Statement (I} is true

@B % e ® fas sy it a-wrd et 2, e gt e fag e d

o (D) : -8 I I sy @ A A B
w9 (1) ; TE-1d o WiEAE U sy Y e wEl safien dier o o Ser Se o wehar )

I YT * o H, T8 e o Hweul § € gel s w1 999 Hifg

(1) =9 (1) 3 AD I Tea B

(2) e (1) ST (D) 297 315 B
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(3  Fw (D) U3 7, I w9 JD) 9 3

(4) = () o7cd 2, 9fF w9 (D 99 2)

[Question ID = 2040][Question Description = Q34_GP_20NOV_51_SHAAN]
1. 1 [Optien ID = 8157]
2. 2 [Option ID = 8158]
3. 3 [Optien ID = 8159]
4. 4 [Option ID = 8160]

30) Match List | with List 1l ;

g=it-1 % @y ge=h-11 o1 foerm hifem)
g1 gt-11
(HrogeR T g ) (TFI)
(A) OCR ) e a1 TEafdiga semEsl o T B 5
feTe w3 =1 R)
(B) OMR D) sg-fmred wlare § 3% vg % & fog
PRERCIR
(C) Email (I11) THw=ITTsh FhTH
(D) Instant Messaging AV) THFINTF HEGHI
F= fou o fawew § O 99 S w1 o hi
(1) (A)-T), (B)-I), (C)-(AV), (D)-(I1I)
(2) (A)-AD), (B)-(D). (C)-(1I), (D)-(IV)
(3) (A)-0). (B)-(AD). (C)-(I11). (D)-(IV)
(4) (A)-I), (B)-(ID), (C)-IV), (D)-(1IT)
Match List I with List I1;
List I List II
(Computer Terms) (Purpose)
(A) OCR (I) Used to scan typed or handwritten
documents
(B) OMR (II) Used to mark  multiple-choice
examinaiions
(C) Email (II) Asynchronous Communication
(D) Instant Messaging (IV) Synchronous Communication

Choose the correct answer from the option given below :

1)  @)-dD, B)-@). (O)-AV). O)-(II)

(2) (A)-AD. (B)-D). (C)-(11L, (D)-(1V)

3  @-@, (B)-dD), (C)-(IIL), (D)-AV)

@ @@, (B)-dD. (O)-AV). M)H-UII)
[Question ID = 2041][Question Description = Q35_GP_20NOV_S1_SHAAN]
1.1

[Option ID = 8161]
2. 2

[Option ID = 8162)
3.3

[Option ID = 8163]
4. 4

[Option ID = 8164]

31) Which of the following is an ozone depleting substance?
(1) Sulphur dioxide (2) Methyl chloride
(3) Carbon dioxide (4) Methane

frafefigd @ o SlF-ar vm A = RO wE G gmd 20
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(3) A SRS @) e

[Question ID = 2042][Question Description = Q36_GP_20M0V_S51_SHAAN]
1. 1 [Option ID = 8165]
2. 2 [Option ID = 8166]
3. 3 [Option ID = 8167]
4, 4 [Option ID = 8168]

32) Which of the following sources of energy is not a form of solar power?
(1) Tidal Power (2) Wind Power
(3) Coal (4) Hydro Power

frafafiga A 9 =h-w =t gq 9 St w1 w80

(1)  sardig s (2) uEa Sl
(3)  wiEe (4) wterga

[Question ID = 2043][Question Description = Q37_GP_20N0V_S51_SHAAN]
1. 1 [Option ID = 8169]
2. 2 [Option ID = 8170]
3. 3 [Option ID = 8171]
4. 4 [Option ID = 8172]

33) Which of the following natural hazards is characterized by progressive occurrence and multicausality?
(1) Earthquake (2) Volcanic eruption
(3) Epidemic {4) Storm

fimafafiga ® @ Fiv-=h weplas onuE st agd 2 ot sud st @i e a0

(1) (9) wHEE! R
(8) =Emdl (49) T

[Question ID = 2044][Question Description = Q38_GP_20NOV_S1_SHAAN]
1. 1 [Option ID = 8173]
2. 2 [Option ID = 8174]
3. 3 [Option ID = 8175]
4. 4 [Option ID = 8176]

34) The abbreviation NMSHE, in the context of Climate Action Plan of Govt. of India, stands for
(1) Mational Mission on Scolar-Hydro Energy

(2) National Mission on Sustaining Himalayan Ecosystem

(3) Mational Mission on Sustainable Hydrogen Energy

(4) National Mission on Survey of Himalayan Ecosystem

ARG QORI =h! UHierulig i ars1 & ded § NMSHE fmfefiga o o foruesr gemew 27

(1) National Mission on Solar-Hydro Energy
(2) National Mission on Sustaining Himalayan Ecosystem
(3) National Mission on Sustainable Hydrogen Energy

(4) National Mission on Survey and Himalayan Ecosystem

[Question ID = 2045][Question Description = Q39_GP_20NOV_S1_SHAAN]
1. 1 [Option ID = 8177
2. 2 [Option ID = 8178]
3. 3 [Option ID = 8179]
4. 4 [Option ID = 8180]

35) Which of the following pollutants have adverse implications for human health as well as climate change?
{A) Nitrogen dioxide

(B} Particulate matter (PM2.5)

(C) Ozone

(D) Methane

(E) Nitrous oxide

Choose the correct answer from the options given below :

(1) (B), (€) and (D) only

(2) (A), (B) and {C) only
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' (3) (B) and (D) only
(4) (B) and (C) only

frafarfas # o fF Tl =1 afisge W9 AT % TR ST ety TieRe W9 8 7

(A)  EEISA SRATFIES
(B) TRR Ty (PMas)
€y sEE

(D) HA

(E) ATgE STeERs

F9 fau ™ T § O 98 s w1 == hiR

(1) #F=F (B). (C) 3R (D)

2)  FFE (A). (B) R (C)

(3)  *ad (B) 31t (D)

(4  F=Fa (B) 31 (C)

[Question ID = 2046][Question Description = Q40_GP_20NOV_S1_SHAAN]
. 1 [Option ID = 8181)

2 [Option ID = 8182

]
. 3 [Optien ID = 8183]
. 4 [Option ID = 8184]

oW o

36) In context of Higher Education, Hon’ble Supreme Court directed which of the following national body/organisation to
frame and prescribe a course in Environment Education?

(1) UGC ; ; (2) NCTE

(3) NCERT ; ; (4) AICTE

7= T & ded o, wEdT s=an e A e e § o giegwn daw g fuifa 9 & o
frafafas 4 @ fra vdm eem /o =) faw fear an?

1 FStE @ @A
3 wHiamrd (4) v Hg

[Question ID = 2047][Question Description = Q41_GP_20N0OV_51_SHAAN]
1. 1 [Optien ID = 8185]
2. 2 [Option ID = 8186]
3. 3 [Option ID = 8187]
4. 4 [Option ID = 8188]

37) Match List | with List I, List | names various organizations while List Il gives their location :
List1 ; ; ; ; Listll

(A) NAAC ; ; (1) Delhi

(B) NIEDA ; ; (ll) Bengaluru

(C) NDRI ; ; () Lucknow

(D) CDRI ; ; (IV) Karnal

A1 % =y geft-11 =1 e Hifom)

-1 gt 11
(&) wTATTH O &t
B wemidic @) e
(©) T 3 AR 3T () TGS
D) & am s AV) =T

F= for T e § O 9F S w1 999 Fifu

1)  A-dD, B)-AID, (C)-A). (D)-IV)
2)  (A)-dD, (B)-D. (O)-AV). (D)-(1I)
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(3) (A)-111), (B)-(L1), (U)-(1), (U)-(1V)

4  (A)-av). B)-dIh. (O)-aD. (D)-d)

[Question ID = 2048][Question Description = Q42_GP_20NOV_S1_SHAAN]
1. 1 [Option ID = 8189]
2. 2 [Option ID = 8150]
3. 3 [Option ID = 8191]
4. 4 [Option ID = 8192]

38) NEP-2020 proposes to establish NETF. What are the stipulated functions of this body?

(A) Articulate new directions for research and innovation in technology.

(B) Provide a platform for free exchange of ideas on use of technology to understand learning,
(C) Engage multilingual experts to help promotion of all Indian Languages.

(D) Advancing international research efforts to address global challenges in healthcare agriculture and climate change using
Al (Artificial Intelligence).

(E) Build intellectual and institutional capacities in Educational technology.

Choose the correct answer from the options given below :

(1) {(A), (D), (E) only

(2) (A), (B), (E) only

(3) (B), (D), (E) only

(4) (A), (C), (D) only

73 forem ity (w7 § 1)-2020 % @ 3 7 v Fit Ty FE W Tw@E 2| 39 Freem % i a3

(A)  TEifER § amEYe K TemER 3g e fEm O )
(B)  iftrm = gAgA 29 WENFER % 9Am % Geg § AR % gea EE-TEE 29 O 99 g S|
(€ ol e SRt i weEr $ H war wg s frermi et we|

(D) wawe ufegml, wf o Sy oftadT & &7 0 Afvgs gAifel = w2 nifefima
ST 1 T A T SaUET S T AT

(E) foen et 4 sifes ok asuma awared =1 fmir s

9 f2u 7o forreat 4 @ wdt 3w w1 9uw Fifw

(1) = (A). D), (B)
2) ¥ (A), (B), (E)
3 %« (B), (D), (E)
4 a4 (), (©). D)

[Question ID = 2049][Question Description = Q43_GP_20NOV_S1_SHAAN]
1. 1 [Option ID = 8193]
2. 2 [Option ID = 8194]
3. 3 [Option ID = 8195]
4. 4 [Option ID = 8196]

39) Which of the following are e-learning platforms?
(A) SWAYAM
(B) PARAKH
(C) SWAYAMPRABHA
(D) DIKSHA
(E) MOOC
Choose the correct answer from the options given below :
(1) (A}, (B}, (E) only
(2) (A), (C), (D) only
(3) (B}, (C}, (D) only
(4) (C), (D), (E) only
frerfefga § @ Fi-3 $-arfm 5= 27

@) =

(B) W@
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(C)  TEEHl

D) g

E) 9%

= fou e faereut # © @ At @ == il

(1) =#= (A), (B). (B)
(2) w4 A, (©). (D)
(3) %3 (B). (C). (D)
@ = (C), (D). (B)

[Question ID = 2050][Question Description = Q44_GP_20NOV_51_SHAAN]
1. 1 [Optien ID = 8197]
2. 2 [Optien ID = 8198]
3. 3 [Option ID = 8199]
4. 4 [Option ID = 8200]

40) Which among the following goals adopted by the UN member States in 2015 is related to SDG-47?
(1) Good health and well being (2) Quality education
(3) Poverty alleviation (4) Industry innovation and infrastructure

T UT % TEET o9 g AW 2015 H wad o wea-4 @ weiug frfafaa 4 @ sh-w wea s

T U1 ¢
(1) a9 TRz I age (2) ToTETTgEER e
(3) Tl S (4) = EER TS STEEET

[Question ID = 2051][Question Description = Q45_GP_20NOV_51_SHAAN]
1. 1 [Option ID = 8201]
2. 2 [Option ID = 8202]
3, 3 [Option ID = 8203)
4, 4 [Option ID = 8204]

Topic:- General Paper_5Set1_C

Read the passage carefully and answer the questions that follow -

The Corona Virus COVID-19 pandemic is the defining global health crisis of our time and the
greatest challenge we have faced since World War Two. Since its emergence 1n Asia late last
yvear, the virus has spread to every continent except Antarctica. We have now reached the
tragic milestone of one million deaths. and the human family is suffering under an almost
intolerable burden of loss. But the pandemic is much more than a health crisis, its also an
unprecedented socio economi crisis. Stressing every one of the country it touches, it has the
potential to create devastating social, economic and political effects that will leave deep and
longstanding scars. UNDP iz the technical lead in the UN's goclo economic recovery,
alongside the health response lead by WHO, and the Global Humanitarian Response Plan,
and working under the leadership of the UN Resident Coordinators. Every day. people are
losing jobs and income, with no way of knowing when normality will return. Small
islandnations, heavily dependent on tourism, have empty hotels and deserted beaches. The
International Labour Orgamsation estimates that 400 million jobs would be lost. The World

Bank projects a US 3110 billion dechine in remitttances this year, which could mean 800
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The

million people will not be able to meet their basic needs.

IS i GEUHIYER 96 9T 3 ATg 9T T g9 9 3T 2

FIAT TEE FIFS- 19 HeMH §AR THF T SYA9d 3T Tanea o 3R fidta favagg & o i v=w
@t I 21 fer o % sifm B F when § wh seva % @Y U7 TERE S A Siew S
Terg # A g 2 O OF §E:] BT U 10 I A S I TEr g% 8 iRl weaar w1 gl W=
T SEET AW S8 98 W 3| g AR WEWR @RS UHE ¥ W ofUT B, T Th SUEE
amTfaw-o1ls wwe ft 21 3@ W wAw wafs T wite 3 e faTmmd @t ot oii
TSI THE USH AT § [ @ geE A% TR R G 91§ G U o gt i oo
(ferarll) 7 9 @ St dt o aiihl e TaF AR W R, WY E AR Fvd T WeT % wedm ¥ 99 ©
= wedl geg B fl 2@ W & 7% Afvaw ueEam ogiew Teem % wE W off 3 @ Eiee
Aok % ged § s R g 31 ' T @ ot e o e mar @ €)1 o 72 wan i afdeaten
%o AT B0 W | el g dif ugl % siew ok aug-ae @l ug 3 sraddE s amen W
a9 2 3 400 fafeem (40 wUg) @en = AeiE = vt 2| faza 9% 3 sgAm o & R s A
g-ta (iea) # 110 faferem smieh sen F wf snof) gom sl 2 B 500 fafema (80 +Ug)
AT AT eI SEEl B g A J awd g g )

major crisis faced by the world since World War [l is in which area?

(1) Industrial (2) Technological
(3) Communication (4) Health

facftar forgerrg = wig faga =1 we@ w=r dwe by &9 ° S 27

(1)
(3

sttt (2) et
TR (4) WA

[Question ID = 2052][Question Description = Q46_GP_20N0OV_51_SHAAN]
1. 1 [Option ID = 8205]
2, 2 [Option ID = 8206)
3, 3 [Option ID = 8207)
4. 4 [Option ID = 8208]

2)

Read the passage carefully and answer the questions that follow -

The Corona Virus COVID-19 pandemic 1s the defining global health crisis of our time and the
greatest challenge we have faced since World War Two. Since 1ts emergence in Asia late last
year. the virus has spread to every continent except Antarctica. We have now reached the
tragic milestone of one million deaths, and the human family is suffering under an almost
intolerable burden of loss. But the pandemic is much more than a health erisis, its also an
unprecedented socio economi crisis. Stressing every one of the country it touches, it has the
potential to create devastating social, economic and political effects that will leave deep and
longstanding scars. UNDP 1s the techmical lead in the UN's socio economic recovery,
alongside the health response lead by WHO. and the Global Humanitarian Response Plan.
and working under the leadership of the UN Resident Coordinators. Every day, people are
losing jobs and income. with no way of knowing when normality will return. Small
islandnations, heavily dependent on tourism, have empty hotels and deserted beaches. The
International Labour Organisation estimates that 400 million jobs would be lost, The World
Bank projects a US 3110 billion dechine in remitttances this year, which could mean 800

million people will not be able to meet their basic needs.

T ] TEHET U AT $8 918 73U T 99 W IW 3

BRI T FHifae-19 Tamil AR 99F 1 AAqd R wren ghe iR fidfa Rwagg & o 6 g
TH T 2 e a9 = atfam B o o o Toe 3eva T WY OE aTnm AU W oirEe USs
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HErd # %ol I 3| 9 T @ BT W 10 g @ A I Tei g% & R gl wremn # gl w6
T FEEE S IETN 98 W@ 2| UGq AE WeWH] WRed @ U wE ik 3, U@ Uk g
amiTE-lE v f 21 W W u=w =it e oyl 2 sos et aefas ot o
(Rerard) o 3 o1 S ot wor ot e WeF 3R T 8, WY o 9% fava vy weA % ueEm U e ©
@R wedl ggadl B ofl 3@ W # aw ww Afvew omdE eben feem % owE owm f g @ ke
aneaae & Aged | s R r 81 ' A o ot Aefen o e e w 21 o 8 aan e ufifesrfon
wd gEFE Be01 T )k g diflw gl % glew ot wg-ae @t ug 31 fatdE 3 wned @
I 2 15 400 fafemm (40 Fg) o Hit il s @t 21 faza 9% 3 omgam o § 7 @ Al
g-ta (ifem) 7 110 faferam smith swen i w=h snof) gom sl 2 5 500 fafema (80 #U3)
ST AT gREE) SEal B g e J awd g g )

The pandemic has left which of the following area unaffected?
(1) Social (2) Economic
(3) Travel and tourism (4) Telecommunication

TEE w1 Frefetiaa § @ BRe o W wwE AE 9gi 27

(1) = (9) T

(3)  =mT st Wi (4) FEAR
[Question ID = 2053][Question Description = Q47_GP_20M0V_S51_SHAAN]
1. 1 [Option ID = 8209]
2. 2 [Option ID = 8210]

3. 3 [Option ID = 8211]
4, 4 [Option ID = 8212]

Read the passage carefully and answer the questions that follow -

The Corona Virus COVID-19 pandemic is the defining global health crisis of our time and the
greatest challenge we have faced since World War Two. Since its emergence 1n Asia late last
year, the virus has spread to every continent except Antarctica. We have now reached the
tragic milestone of one million deaths. and the human family is suffering under an almost
intolerable burden of loss. But the pandemic is much more than a health crisis, ite also an
unprecedented socio economi crisis. Stressing every one of the country it touches, it has the
potential to create devastating social, economic and political effects that will leave deep and
longstanding scars. UNDP iz the technical lead in the UN's goclo economic recovery,
alongside the health response lead by WHO, and the Global Humanitarian Response Plan,
and working under the leadership of the UN Resident Coordinators. Every day. people are
losing jobs and income, with no way of knowing when normality will return. Small
islandnations, heavily dependent on tourism, have empty hotels and deserted beaches. The
International Labour Orgamsation estimates that 400 million jobs would be lost. The World
Bank projects a US 3110 billion dechine in remitttances this year, which could mean 800

million people will not be able to meet their basic needs.

TS I FEUHIYEER 96 9T 36 aTg T T gv 9 39 2

AT TEE FIFS- 19 HeMH §AH THF T A1Yq9d 3T Tanea o 3R fita fOvagg & o i v=w
gt oA B1 famer ad % sifim B o o F o seva F W a7 arRE SRR H BIsAR Yo
Herg # ¥ P 2| oW OF §EQ I U 10 I A S I TEr g% 8 iR i wwaar w1 gl W
T SRR AW S8 U8 W 3| g AE TR @RS UHE ¥ HE ofUT B, U9 Th SEE
amTfaw-a1ls wwe ft 2| 3m W waAw wafs o wwite 3 e faammd mmEts onfie ek
TR TTE s T 3 Rk o gee o gl e e T 2w ug o amies anfes afamf
(ferarll) 7 9 W St dt o aiioht e TaF AR R, WY AR FIvd T WeA % wedr ¥ 79 ©
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= |99l Hagl B Y1 2@ | T 9 48 <died® AR ST AR F HwE B 9T g T TS
gk & Ao § fugs e 11 31w R ot st et ik o e @ 21 o 9 e B afifouteen
e T B0 e | el e dife gl % iew ok wug-ge @l ug 3 sraddE s amen W
a9 2 5 400 fafemm (40 wUg) @Fn = AiEn = vt 2] faza 9% 3 sm W & R s A
a7-ta (ifea) 7 110 faferem smieh sen F wh snof) gom sl 2 5 500 fafema (80 #U%)
AT AT gREE) SEal B g A J awd g g )

Which continent is least affected by COVID-19?
(1) Asia (2) North America
(3) Australia (4) Antarctica

HH-AT TEET Hifae— 19 F T9H F9 UG gon 27

(1)

(3)

ofdrm (2) ot e
g fern 4) il

[Question ID = 2054][Question Description = Q48_GP_20NOV_S1_SHAAN]
1. 1 [Option ID = 8213)
2. 2 [Option ID = 8214]
3. 3 [Option ID = 8215]
4. 4 [Opticn ID = 8216]

4)

Read the passage carefully and answer the questions that follow -

The Corona Virus COVID-19 pandemic 1s the defining global health crisis of our time and the
greatest challenge we have faced since World War Two. Since 1ts emergence in Asia late last
year, the virus has spread to every continent except Antarctica. We have now reached the
tragic milestone of one million deaths, and the human family is suffering under an almost
intolerable burden of loss. But the pandemie is much more than a health erisis, its also an
unprecedented socio economi crisis, Stressing every one of the country it touches, it has the
potential to create devastating social. economic and political effects that will leave deep and
longstanding scars. UNDP 1s the technical lead in the UN's socio economic recovery,
alongside the health response lead by WHO. and the Global Humanitarian Response Plan.
and working under the leadership of the UN Resident Coordinators. Every day, people are
losing jobs and income. with no way of knowing when normality will return. Small
islandnations, heavily dependent on tourism, have empty hotels and deserted beaches. The
International Labour Organisation estimates that 400 million jobs would be lost. The World
Bank projects a US 3110 billion dechine in remitttances this year, which could mean 800

million people will not be able to meet their basic needs.

T ] TEHEE T AT 589 918 73U T 99 W IW 3

HRAT I FHifae-19 Tamil AR 999 1 g AR e ge iR fidfa Rwagg & o 6 v
2 T 31 Tt a6 % sifam &1 3 oftmn 4 sus 39vE % WY T aERE SRR i BISAR Ui
HEIda ® %ol I 3| 9 T @ BT W 10 TG @ A I el g § R gl Arear # gl w6
T FEEE S ISt 93 @ 2| UG AE WeMH) WRed g% U BE R 3, UE Th g
amsE-oits w@we ff 21 2W W T wie e IR 2 sue e e onide iR
erifier e s A B S e e e i S wd v B da v A s e fs
(Ferardl) 7 3 o1 S ot w gotht e WeM AR T B, W & 9% fava T wed % ueEm U we ©
@R wedl gedl w1 ol 3@ W E aw w Afvew omdE eben feem F owE oW f g @ ke
A=A % Sged § Frowm # @1 21 7 oA s srot et oie s e @ 31 5 T8 v B wfifeafe
Fd aEFE 5o T ) ek gid diflT gl % gew ot wg-ae @t ug 31 fatdm 3w wned W
s 2 55 400 fafeem (40 ) @ it Aeien st gt ) faza 9% 3 wTAm e § 7R ose A
g7-ta (ifem) # 110 fafermm smieh sen i wh snofl) gom sthime 2 B s00 fafema (80 #Us)
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AN 3A9HT IR Sl & Q0 R 3 qHY 9287 31 e |

Which of the following organization has given technical lead in the UN's socio-economic recovery plan?
(1) UNDF  (2) UNICEF
(3) UN-GHRP  (4) UNSC

=1 4 @ f&m geom 9 UN #it amnfas onides afamfa (fmadl) T =+t 390 vem fran 27

1)
3

UNDP (2) UNICEF
UN-GHRP (4) UNSC

[Question ID = 2055][Question Description = Q49_GP_20N0V_5S1_SHAAN]
1. 1 [Option ID = 8217]
2. 2 [Option ID = 8218]
3. 3 [Option ID = 8219]
4. 4 [Option ID = 8220]

3)

In the wake of COVID-19 which of the following organisations/establishments will have least chances of closure?

Read the passage carefully and answer the questions that follow -

The Corona Virus COVID-19 pandemic 1s the defining global health crisis of our time and the
greatest challenge we have faced since World War Two. Since 1ts emergence in Asia late last
year, the virus has spread to every continent except Antarctica. We have now reached the
tragic milestone of one million deaths, and the human family is suffering under an almost
intolerable burden of loss. But the pandemic is much more than a health erisis, its also an
unprecedented socio economi crisis. Stressing every one of the country it touches, it has the
potential to create devastating social, economic and political effects that will leave deep and
longstanding scars. UNDP 1s the technical lead in the UN's socio economic recovery,
alongside the health response lead by WHO., and the Global Humanitaran Response Plan.
and working under the leadership of the UN Resident Coordinators. Every day, people are
losing jobs and income. with no way of knowing when normality will return. Small
islandnations, heavily dependent on tourism, have empty hotels and deserted beaches. The
International Labour Organisation estimates that 400 million jobs would be lost. The World
Bank projects a US 3110 billion dechine in remitttances this year, which could mean 800

million people will not be able to meet their basic needs.

T ] T EE T AT 59 918 73U T 99 W IW 3

FIAT P Fifae- 19 Temi §A1 T =1 g dvas e g iR Tyt favaag = o i wed
a1 AN 21 frowt ad  oifis B F witm o oo sova ¥ WY TR ITRE SFTHEHE F DS TAF
HEIda # %ol IR B A9 T @ BT W 10 g @1 A I Tei g § AR gl wer # gl w6
T FEEE S SETN 93 W@ 2| UG ¥E WeW) WY @ U wE w3, U8 Ok Iy
ameE-AidE we ff 3| 2w W uww s e Wik 2 e oo s o o
(Rerardl) 7 3 o1 S ot wr ot e WeM 9 T B, W & 9% fava ey wed % ueEm O e ©
@R uedl gedl B o 3@ W 2 aw ww Afvew omdE eben feem 5 s owm f g @ ke
an-aaeh & Aged | fHvaw w1 g1 & 5 o st Aewfen ok s e @ 21 o 8 wan e ufifeurfon
w6 G w0 e i wie difte ugl % sles oIk wug-ae @t ug 3 siaddE s dned W
a9 2 56 400 fafeem (40 Ug) @ = AeiEn = vt 31 faza 9% 3 sgAm e & R owm ad
g7-ta (ifem) # 110 ffemm smieh sen 1 #h snofl) gom sthme 2 B s00 fafema (80 #U3)
AT AT gREE) SEal B g A J awd g g )

(1) Tourism industry (2) Health care centres
(3) Industrial establishments (4) Educational institutions

Hifas-19 % sucten d frfafa 9 @ 7 wreai/ afaem &g 9 it asa w9 gurea gt ?
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(1) T T
(3)  otEnfe wfoes

(2) @A ti=E g
(4) wforEs afdem

[Question ID = 2056][Question Description = Q50_GP_20M0V_S1_SHAAN]
1. 1 [Option ID = 8221]
2. 2 [Option ID = 8222]
3. 3 [Option ID = 8223]
4, 4 [Option ID = 8224]
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